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CHAPTER 01

AlAI

| POINT1 sixjetz Al p.16

| have studied Spanish since January.

Have you talked with Daniel before?

We have already watched the director’s latest movie.

My dad has gone to Sweden on business.

Carol has not eaten meat for five years.

Gary has never caught a cold in his life.

They have worked as engineers since 2020.

She has sold the car, and she will buy a new one.

VO 00 N O U1 AW =

The host has not sent the invitations yet.

10 The Olympic athletes have stayed in Seoul for a week.

POINT 2 sizjtazisin| p.17

1 Mr. Clark began to fix the oven two hours ago. He is still fixing it.
Clark W= & A|ZH 0| @22 Tx|7| ASEICE = ofFs| 2% 1|1 QU
Ct.
— Mr. Clark has been fixing the oven for two hours.
Clark W= & AlZH 8¢t 28 1X|= F0|ct

2 The police started to search for the suspect in 2021. The police are
still searching for the suspect.
ZE 2021100] S2ARIS 57| AIRHCE ZE2 ofHs| B2IXIS &0 YLt
— The police have been searching for the suspect since 2021.
BE2 2021H2H 9|KIE 5= Fo|ct

3 Jenny began to paint the house a week ago. She is still painting the
house.
Jenny 27l Hoj g Hsty| ARHCh s ofds| g Hsha Uk
— Jenny has been painting the house for a week.
Jenny= xS0t T Sei 3oLt
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4 The customers started to
in line.
O 2EHES Ko E2 MA 7ICH2|7| AIZICE 252 0Fs| E2 MM 7|
CH2| o UCh
— The customers have been waiting in line since last night.
O 2HES XHHEEH &8 MM 7|Ci2le Folch

wait in line last night. They are still waiting

5 Chris and | began to talk on the phone 30 minutes ago. We are still
talking on the phone.
Chris®} Lt= 302 TEE H&2 0[0F7|5t7| AIZFICE L2|= 04%5| M3t 0]
OoF7|5} QICt.
— Chris and | have been talking on the phone for 30 minutes.
Chrise} Lt= 308 S¢t Mst2 0|op|sh= Fo|ct

The artist has been making the sculpture for five years.

The committee has been discussing the issue since this morning.

6
7
8 | have been riding a bicycle for three hours.
9

The students have been preparing for the school festival since noon.

10 Betty has been working at the hospital since last year.

POINT 3 a2t AlA| p.18

| couldn’t enter the stadium because | had not brought my ticket.

The plane had already left when Nicole arrived at the airport.

My father had been an accountant before he became a lawyer.

A NN =

She found the key that she had lost last week.
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5 We had lived in the city for ten years before | graduated from middle
school.

Peter made a mistake because he had not been careful.

When they entered the classroom, the class had just begun.

6
7
8 He had studied French for five years when he visited France.
9 | had taken a shower before | went to bed.

10 After it had started raining, we closed the window.

POINT 4 32 zIdAlx| P19

1 | had been walking the dog for 30 minutes when | met my friends.

2 Sam had been doing his homework for a whole day before he took a
rest.

3 She had been playing the piano for 20 years when she became an
orchestra member.

4 He had been taking care of his brother for six hours until dinner.

It had been snowing for three days when she arrived in Sweden.

| had been preparing for the exam when my friends asked me to play
outside.

7 The thieves had been staying in the hotel for five days when the
police arrested them.

When | was born, my mom had been working as a science teacher.

Joan had been exercising hard for a few weeks before she took her
wedding pictures.

10 We had been looking for the gloves when he entered the room.
11 The cat had been sleeping for a while when the phone rang.
12 Matthew had been talking about lizards for an hour when | yawned.

podi=]
ZESMlzowga) p. 20
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01 Have you ever seen whales in the ocean?

02 They looked tired because they had been walking for a long time.

03 The singer has been performing for an hour at the concert.

04 He had heard everything | said.
05 It has snowed all night long in Chicago.
06 How long have you collected stamps as a hobby?

07 The students had been drawing pictures for four hours before the
teacher called them.

08 Everyone has been watching the war between the two countries
for years.

09 Clara had never been to a funeral yet.

10 Lucas has saved money for a new computer.

11 Jeremy has been enjoying spicy food since he moved to Korea.

12 Have you used this program before?

13 | had already been to the island before it got popular.

14 Greg has visited 15 countries since 2019.

15 He had been driving the car for ten years when his first car
accident happened.

16 The US has been celebrating Independence Day since 1785.

17 Has your teacher scolded other students in class?

18 Rachel had never seen jellyfish before she went to the aquarium.

19 My dad has worked as a doctor for 20 years.

20 My sister had been writing letters to Santa Claus before she
turned 13.

21 Steve and Kate have known each other since they met last year.

22 My girlfriend had left the restaurant before | arrived.

23 Lisa has been keeping a diary since she was five.




24 Joan dried her hair after she had finished washing her hair.

25 | have been taking dance lessons since | was eight.

26 Jack has lost his wallet at the station.

27 | had traveled to Venice before | worked there.

28 The children have been building a snowman for two hours.

29 We had called a taxi before we went outside.

30 Anna has been cleaning the table for 30 minutes.
31 have ~ had

32 planning — planned

33 have handed — handed

34 has — had

35 was — has been

36 has — had

37 knows — has known

38 stayed — have stayed
39 have —~ had
40 was — has been

41 He lost his bike because he had forgotten to put on a lock.

42 |t had rained last night and wet leaves covered the ground this
morning.

43 The bus had left when he arrived at the bus stop.

44 Dad had prepared the dinner before Mom came home.

45 This morning, Mandy had eaten breakfast before she did the
laundry.

46 Today, Peter had run in the park before he practiced for the

speech contest.
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CHAPTER 02

8 The man demanded that they lower the radio volume.
9 My father recommended that | should experience many things.

10 The police ordered that the suspect show his ID card.

J IE-EI'II g1 XIS X |z orga) p.30

POINT1

used to, would p. 26
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She used to have long hair when she attended middle school.

People used to believe that Earth was flat.
Emily and | used to be close friends before | moved to Daegu.

Donald didn’t use to pay attention during class.

Alice would spend every afternoon at the library when she was
young.

My family used to[would] visit my grandparents every weekend.
Ms. Adams used to[would] take a bus to work.

There used to be a big pond in the national park.

His brother used to[would] watch a lot of scary movies.

POINT 2 had better, would rather p.27

| would rather walk to school.

You had better bring your umbrella today.

| would rather play outside than stay in the classroom.

You had better not walk on the icy sidewalk.

| would rather not accept his suggestion.

| would rather wash the dishes than clean the house.

You had better apologize to Nancy tomorrow.

Sam said that he would rather not repair his car.

| would rather exercise than take a nap.

10 You had better not lose your passport when you travel abroad.

VO 00 N O U AN =

10 You could have dropped my camera when you moved the large box.

N O o A NN =

POINT 3

POINT4

ZZAt+ have + p.p p.28

He must have enjoyed the parade.

The customer may have ordered the wrong product.

Emily should not have said that.

She could have prevented the fire by turning off the oven.

He cannot have slept well yesterday because of the loud noise.

You should have submitted your homework yesterday.

| may[might] have taken his class before, but | don’t remember.

Tom must have gone home early because his seat is empty.

Since the puzzle was really hard, Ashley cannot[can’t] have solved it
by herself.

should?| A2k p.29

The flight attendant demanded that we return to our seats.

The teacher suggested that Tyler should read literature.

The company ordered the employees finish their work without delay.

They recommended that guests wear formal clothes.

Ben insists we should stop using plastic bags.

| suggested that we go out to eat dinner.
The weather forecaster insists that people stay at home during the

01 The detective thinks that the accident must have happened
during the night.
02 The teacher said that bananas used to be expensive in Korea.

03 Dad used to tickle me a lot when | was little.

04 The door may have closed by itself.

05 The tour guide recommended that we try the traditional food.

06 You should have practiced the presentation when you had time.

07 The frame used to be hanging on the wall before.

08 Many kings used to build castles to defend themselves.

09 Aaron cannot have said such a thing.

10 The counselor suggested that Lisa take a higher level class.

11 Marie’s hair used to be blue until last month.

12 My family used to[would] go swimming at the lake every summer.

13 | would rather go to the movie than watch TV at home.

14 They may[might] have decided to volunteer at the animal shelter.
15 You had better not tell the truth to Eve.
16 My favorite hamburger used to cost four dollars until last year.

17 | used to[would] decorate the Christmas tree every December.

18 | would rather donate my money than keep it until | die.

19 Adam may[might] have agreed with your opinion about the book.

20 You had better not use your left hand when you shake hands in
Islamic countries.

21 not better = better not

22 stops — (should) stop

23 should = may[might

24 go — gone

25 would — used to

26 hadn’t better = had better not
27 extended — (should) extend
28 must — cannot[can’t

29 leave — left

30 would — used to

31 Jeremy used to[would] practice the guitar every day, but now he
never plays it.

32 | should have made a reservation before | visited the restaurant.

33 There used to be three singers in the choir, but now there are five
singers.

34 Mr. Smith used to work at a bank, but he is retired now.

35 Nicole could have gone shopping instead of playing soccer with
her friends.

36 Eric used to be short when he was ten, but he is tall now.
37 You should have left your house earlier.

38 You must have delivered it to the wrong address.
39 | should not have played with the ball in the house.
40 You must have eaten my lunch.

41 A: Who is the man holding a hockey stick in the picture?

B: That is my dad. He used to[would] play hockey when he was
in college.

42 A: I'm finished with my school project about saving endangered
animals.

Chapter02 X=At 5



B: Oh, | could have helped you. I'm interested in that issue.

43 A: According to the brochure, this hotel used to be a king’s

44 A:

palace.
B: That’s why it looks so fancy.

| wonder why Joseph is crying now.
B: He must have failed the test. The teacher announced the test
scores this morning.
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POINT1 #Selio| sela} Hel p.36

The pianist will play those songs.

O DOol|AEE O L2iES ¢FE Zo|ct

— Those songs will be played by the pianist.
O iE2 O lotL|AEo| ol 4z Zi0|ct.

The farmer hasn’t planted apple trees in the orchard.
0 8= 0] AR LIRSS AX| SUTH

— Apple trees haven’t been planted in the orchard by the farmer.
At LIRSS S50l ofal 2t=2of| HO{X|X| QFUTH.

We must plan the trip today.

R2|= 2= T 0f#S A =lsHort St

— The trip must be planned today by us.
T o2 22|0]| 2l 2E HI2E|0{0k2t St

Students should wear the protective gloves during class.

SHHES £ S0t O Hs ZZ2 77|0{0f St

— The protective gloves should be worn during class by students.
I HS YU2 o S sHES0l| 2/sl 7]0{xok Bt

Ms. Stevens is passing out the tickets.

Stevens M= EE LM Z1 QI

— The tickets are being passed out by Ms. Stevens.
HE= Stevens M[0f 2|3l LHERX| T QICE

The gifts will be wrapped in red paper.

Mr. Trent said that he was being watched by someone.

Her face had been burned by the sun when | saw her.

This heater must be kept on during the winter.

POINT 2 434 20| 2S¢ p.37

My dad bought my sister a grey jacket.

Lto| Oftith= Lt2| 01 S 07| 514 TS ARFRULCE

— A grey jacket was bought for my sister by my dad.
S| XHZI2 Lo Oftttol| 2lsh Lto| 0= HollA| AFELCE

The comedian told the audience a funny story.
1 3A0|C|ol2 20| 221 o[oF7 | FiCt

[y he |

— The audience was told a funny story by the comedian.
2242 1 F0|C|lof ol 271 0[0F7|E SAUCh

Sumi wrote Mr. Williams a letter.

20]= Williams MOfl7| XIS 4iCt.

— A letter was written to Mr. Williams by Sumi.
HX|7} 0(0fl s Williams A0]|7H| AA0{FIC}.

They asked the lawyer some questions.

JS2 HSAIA Z 71X 222 FCh

— The lawyer was asked some questions by them.
HSALE IS0l Qs B 7HX| HES HRUATE

The police officer showed the old lady the way to the subway.
O ZE2 UOIE o207 XISHREZ 7he 22 Ho{FUCt
— The old lady was shown the way to the subway by the police
officer.
LIOIE 0id22 1 &0 Qs XISHEZ 7t 28 20

Emperor Shah Jahan built the empress the Taj Mahal.

S| AR Xt5H2 &% 0)7 EFX|OFES X|OJFACE

— The Taj Mahal was built for the empress by Emperor Shah Jahan.
EtX|DF2 &Rl AF XFSHo| ofal &= oflA| XIo{FCE.

The mittens were made for me by my grandmother.

| was given a receipt by the clerk.

The notice was sent to me by the bank.
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10 The food was brought to the customers by the robot.

7
8
9

POINT 3 584! 25fo| &=k p.38

| found the box empty.
L= O 4Z7HE 2iE 2ottt
— The box was found empty by me.
3 A7t Lol| 2ls H|0Rl= S 2OFRCE

The owner told the dog to sit.
T Q12 1 JHoflA| gtoatn ERHCE
— The dog was told to sit by the owner.

O 7l 2 Felo ofsf gtedk= 2E SUCH

People called the man a national hero.
AIME2 1 IXHE F7Hel 3ol2t ERIc

— The man was called a national hero (by the people).
O X MRSl 2lst = 7H 2l J 02t ERICE

Many people heard the choir sing.
2 AIRIS0| O FET0| Lelish= 22 SICh
— The choir was heard to sing by many people.
0 SHETR B2 ARRE| Qlsl Lalish= Z10] SR

[ =y

The doctor advised him to start exercising.

2 oAk J0jIA 2SshE AS AIRE A =AU

— He was advised to start exercising by the doctor.
T oMol s 2Fsts ZS AIZE 28 &R0 EhUC).

Economists expected housing prices to rise.

BHSIXIE2 TA0| LE AS ol 4FIC.

— Housing prices were expected to rise by economists.
T2 ZHERE0 Qs 2E 20| ol &=L

The baby was kept warm by the blanket.

Maria was elected the class president by the students.

Guests were asked to leave their umbrellas at the door.

10 The children were made to wash their hands by their mom.

POINT4 =%oj7} that@eol 30| $3el P39

Everyone knows that Earth travels around the Sun.
TE ARISO0| X7 EfY F=9|E =Ch= AS QiCh
- Earth is known to travel around the Sun.

R|PE B 912 EChs Zo| LaiA QUct.

Some people say that aliens exist.

O™ ARHS2 2|A|Qlo| EXHSHTtn ST

— Aliens are said to exist by some people.
QA2 EXYSHCI T O ARRFS 0l 2ol ZroHRICE

Scientists expect that all the ice caps will melt soon.

RS2 2 2= BHEH0| =2 A0[2t1 Of| BT

— It is expected that all the ice caps will melt soon by scientists.
Z 2= PHAM0| =2 Z0[2t1 BfstRbSol| 2fsl ol &It

People believe that gold is a symbol of wealth.

AE2 20| 2| 4Fol2t =t

— Gold is believed to be a symbol of wealth.
22 §o| 47olztn Yojzct

Some people think that exercising is important for health.
O ARE2 280| 220l ZL5(Ct0 M2t
- It is thought that exercising is important for health by some
people.
22 U0l st of ARIS| sl W2iEIC.

26 million babies are expected to be born this year.
27eHBt ol oty |7t 23l Efole A2 oflEICt

Bananas are said to lower blood pressure.
HiLi b= ES WECHD eiTICt

It is believed that Columbus found the Americas in 1492.
SHHAT} 1492140 DICHE S L2ARCHT LOJZICE

It is known that the seas around Dokdo are rich in natural resources.

Sk ol Hith= MAXO| SR8 A=z L2 ALt

0] 412

mjo
Hir

oix

rir

Ciekst st XH2 |2 HackersBook.com

10 The advance in technology is expected to make our lives convenient.
7|&0 YN 22|9| 4fg HalsHH BHE0E A2 R 7|thEICH

POINT5 FEAle| &E¢f p.40

The offer was turned down by Jason.

The problem will be dealt with by the police officer.

The children were looked after by their dad.

The festival was put off because of rain.

The Indians were looked down on by the British in the 1800s.

The oven was turned off by the chef.

Mr. Wilson was looked up to by his students.

Those kittens were taken care of by my mom.

VO 00 N o0 U1 A NN =

Media can be made use of by government.

10 The lights were turned on and they looked like stars.

-

1 Various topics were dealt with at the meeting.

POINT 6 by o]2le] HRIALS 2= Skl P-4

The mountain is covered with snow all year.

Kevin was worried about the math exam.

The Maori are known as fierce warriors.

The library was crowded with students.

Those burgers are made of soy patties.

Jenna was surprised at the price of the cake.

My dog was pleased with the new toy.

Meditation’s effect is known to a lot of people.

VO 00 N OO0 U1 A NN =

The vase is filled with sand and pebbles.
10 Everyone was disappointed with the ending of the movie.

11 My brother is interested in rock climbing.

2 ISEI-II g1 ZIE X |z oiga) p. 42

The bicycle was lent to Diana by her friend.

Those paper bags should be put in the recycling box.

The politician was surprised at the result of the election.

The broken plates will be replaced with new ones.

The thief was seen to rob the bank by Tom.

The snowman was built for the girl by her parents.

N O o1 A NN =

Germs can be removed easily[easily be removed/be easily
removed] by using soap.

8 Customers were disappointed with the quality of the new
product.

9 My hair is being cut by the hairdresser.

10 Potato sprouts are considered to be poisonous.

11 The package was sent to me by Fred.

12 Stress can be relieved by exercising.

13 It was noticed that the exam was canceled.

14 Margaret Thatcher is known as the Iron Lady.

15 The baby was made to cry by the noise outside.

16 The necklace was given to Mom by Dad.

17 The case should be decided by the judge.

18 It was said that the Hangang is the symbol of Seoul.

19 The airport was crowded with tourists from France.

20 A lot of efforts were made to save the endangered animals.




21 The window had been opened by Rachel before she swept the

floor.

22 The surprise party will be prepared by Anna and her friends

tomorrow.

23 James is thought to be a smart student by everyone.

24 The faucet has been repaired for two hours by the plumber.

25 It is known that smoking is really bad for health.

26 The rose tree had been grown by my dad since | was five years

old.
27 The dishes should be washed by us before we cook dinner.

28 A four-leaf-clover is believed to bring good luck by people.

29 The old door has been painted blue by them since yesterday.

30 It is said that working four days a week will improve work
efficiency.
31 Marie Curie is known as the mother of modern physics.

32 The patient was given some pills by the doctor.

33 Hanna made a suggestion, but it was turned down by the

committee.

34 Brian was pleased with his favorite author’s new novel.

35 Everyone was asked to take off their shoes by the instructor.

36 The customers were satisfied with the restaurant’s service.

37 Everyone should be interested in environmental problems.

38 The pyramids were built for dead pharaohs in the past.

39 This project has been put off by the CEO until next year.

40 The bottom of the lake was covered with plastic waste.

41 People were advised to remain indoors for safety by the

government.
42 The old buildings of the temple were made of wood.

43 History was taught to students by Mr. Riley at school.

44 Many questions should be asked of the president by the

reporters.

45 The artwork was shown to the public by the museum after 20

years.

46 These cars must be fixed for the car racers by professional

mechanics.

47 A
B:
48 A:
B

49 A:
B:

50 A:

Did you use any butter to bake this cake?
No. It is made from coconut oil.

When should we turn in our homework?

: The reports have been collected by the teacher already.

How did you like the movie you watched yesterday?
My friends and | were disappointed with it. Its plot was
ridiculous.

Has there been an increase in car accidents lately?

: Many accidents have been caused by careless driving.
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5 | felt my eyes swell[swelling] while | was crying.
CHAPTER 04 L= = 82 U =0l R=(R1 Us) WS =t

We saw the tree fall because of the wind.
Andrew helped the old lady walk[to walk] across the street.

6

7

8 The coach made us practice for several hours.
9 They heard their names called by the nurse.

_ 10 Chloe smelled something burn[burning] in the kitchen.
POINT1 @At oigts st to"AL p.48
1 ltis easy to swim with flippers. POINT5 tosXAle| o|ojAt Z=o0f p.52
2 She wasn’t sure what she should do with the potatoes.
3 Dad made it a rule to come home by 10. 1 You helped my grandfather. It was kind.
L= Lie| oM XIS =2t 17 XIFSHL]
4 Did you decide where to go for the holidays? A= Lol = XIS =T DS TEACL
) . - |t was kind of you to help my grandfather.

5 |thought it strange to see a bear walking through the town. 7} Lfo| BHOMHK|Z EQICH | ZIESHCE
6 The bakery found it necessary to raise the price of its bread. 2 The roller coaster is dangerous. Children can’t ride it.
7 Did the pharmacist tell you when to take[when you should take] the O EIAHE @IHsiCh 02lol= I8 & & Qi

pill? — The roller coaster is dangerous for children to ride.

8 Do you know how to get[how you should get] to the airport? 21017} E7[0f] 2 EHRAH = 2IRSICH

9 It was difficult to visit foreign countries until the 1980s. 3 He admitted his mistake. It was honest.
J= 10| M5 QIFICE a2 SXFCH
- It was honest of him to admit his mistake.

J= 19| A5 ST SR

10 | found it easy to learn English grammar.

- o = 4 You told everyone the secret. It was careless.
POINT 2 #SA/A 282 3t toR TN p.49 e D= AiarDoly HIS BT, JAS Lol

=22 =2 AN — AT TT
— It was careless of you to tell everyone the secret.
This mountain is hard to climb. U7t ZE AIES0IA H|2S ToiCi] 23of3ct
Amy wrote a letter to him to apologize for her mistake. 5 James made me a pancake. | had it.
Jamesi= LIof|A| T#H|0|3E BHSOFICE L= OE HRICH
Wi ) . — James made a pancake for me to have.
ill you bring me a spoon to eat with? James= L{7t 1S #7|0|3 2 oHE9iCt.

—= =2 M
We were surprised to see the koala in the forest.

They must be students to wear those uniforms.

Farmers left some berries for birds to eat.

Leonardo da Vinci lived to be 67 years old.

It was wise of her to plan ahead.

| don’t have anything to wear in the closet.

The chef was satisfied to see the fresh ingredients.

[}

7

8 It was nice of you to invite us to dinner.

9 Fruit smoothies are healthy for us to drink.

VO 00 N O U1 AW =

There aren’t any towels to use in the bathroom.

10 | bought a warm coat for you to wear.

10 We should leave early to avoid the traffic.

POINT 6 toREA 12 p.53
POINT3 ==Xz H0{Z 20|= toR ™AL p.50
1 Jamie is so tall that she can’t wear that coat.
1 Sam wanted his friend to visit him on Saturday. Jamie= B M O ZEE 28 2 9iCt.
2 My grandmother asked me to find her glasses. — Jamie is too tall to wear that coat.
. . - Jamiee= 1 FEE 7|0 2 3C}
3 The teacher encouraged the children to write down their ideas.
4 The judge ordered him to leave the court. 2 It seemed that the suspect was. lying.
— The suspect seemed to be lying.
5 Team sports allow us to understand the value of teamwork. 1 ORF= AR SHe 2 24T
6 Dr. Foster advised his patient to sleep more. 3 The lake was so warm that we could swim in it.
7 Everyone expected Fiona to become our class president. S47hHE MRS 22| O ol g 4~ QURICE
8 His experiences enabled him to be chosen as CEO. = The lake was warm enough to swim in.
S O ol Gat7|of| S238] MHEEict
9 | told them to stop fighting over the cookies. ) ) )
. _ o 4 This land is fertile enough for plants to grow.
10 Mass production allowed industrialization to speed up. 0| e AlZ0| Xt2p7|of] £E5| H|=23|CH
- This land is so fertile that plants can grow.
0| g2 F2 H|SshM AES0| 12 4= QUCH
2x7d M0|= QlEIEx .
POINT4 =%z 5i0i2 sol= Hgwan p.51 5 It was too cold for us to play outside.
2|7t P2 =7(0f S FRACL
1 On the cruise, we will watch the dolphins swim. — It was so cold that we couldn’t play outside.
IAZR0|M, QE|= SHEH7t £Y5H= 22 2 Zolct HE FoM P2I= HRZ0IA = 2+ IICH
2 Mr. Jordan allowed the students to use laptops in class. 6 Steven was too tired to stay up.
Jordan M2 sHYE0| £ AlZtol| mESS AIB3HE ZS S{=BsiFAIC Steven2 7H0{QL7|0f| 4T m|Z3YCt.

3 The police got the driver to stop the car. — Steven was so tirgd that he couldn’t stay up.
girg oﬁx%f PETESTETEY : Steven2 LS m|Zall M THOIUS == SARACH

=2 T = oT

7 The trash can was too dirty for us to touch.

4 is cli i i .
The lawyer had his client wait during the phone call 1 MEP|ES 28)7} Brx|7jof U Tt

O #HS A= S8 S0 12| 40| 7|Ch2(A| Fict.
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— The trash can was so dirty that we couldn’t touch it.
O X718 HF C2{YAM S2[7F BHE =~ giQdch

8 It seems that the customer is satisfied with the product.

— The customer seems to be satisfied with the product.
O M2 HEof| etEsh= 2 2Lt

9 The lock was so weak that thieves could break in.
2 XEAlE LR ofsiM ESS0| Helst 4+ UL
— The lock was weak enough for th|eves to break in.
O XtE2ls E550| ZYstr|of S20] 3L

10 Fish are becoming so expensive that we can’t feed them to the
penguins.
MMO| LR HIWX| 2 JU0IM R2|= IRSS WSO HY 4= gich
— Fish are becoming too expensive to feed the penguins.
M0| HS0lH 2Ho|7|ofl HF HIMX| L ACH

|E.|.I-|| I‘.EI-"; opgall p.54

01 The dragonfly is flying too high to catch.

02 Technological advances allowed us to work from home.

03 He sent me a poem to read by email.

04 Would you tell me where to buy the train tickets?

05 It is important for us to experience new things.

06 The horse was too slow to win the race.

07 No one expected the economy to crash so fast.

08 Will you give me a piece of paper to write on?

09 This brochure explains how to use this machine in detail.

10 It was silly of you to trust his promises again.

11 It is necessary to be careful in a chemical laboratory.

12 | have interesting news to tell you.

13 We saw someone hide[hiding] behind the tree.

14 The tourist stopped by the information center to ask for directions.

15 The old man was looking for a chair to sit on.

16 |t is always exciting to meet new people.

17 There isn’t any gym to sign up for near my house.

18 | heard him shout[shouting] angrily on the phone.

19 The citizen representatives asked for a meeting to discuss the
matter.

20 You need a friend to talk to about your problem.

21 |t is important to protect wild animals for the future.

22 The water seems to be leaking from the pipe.

23 The weather is too humid for laundry to dry.

24 The door isn’t so wide that the refrigerator can’t pass through.

25 |t seemed that the man was pleased with his new pants.

26 |t took a long time for me to plan our trip to Europe.

27 It seemed that the rain fell all night long.

28 The job offer was so good that Larry couldn’t refuse it.

29 My grandmother is so healthy that she can travel long distances.

30 Harry seemed to be lying about his grade.

31 They were happy to finish their homework.

32 | am searching for a place to stay in London.

33 |t is impossible for a human to run faster than a cheetah.

34 He forgot when to visit[he should visit] the dentist.

35 The sea is too rough for us to swim in.

36 The ballerina is excited to perform on the stage.
37 There are many balls for the dog to play with.
38 Was it interesting for you to study physics in college?

39 Let me know how to pay[how | should pay] the rent.

40 The fork is too dirty for me to eat with.

12 Yof HHS =0{F= Chfet 8f5 Atz HS HackersBook.com

41 It was foolish of you to walk barefoot.

42 Everyone heard the man complain[complaining].

43 |s it difficult for you to live without a cell phone these days?

44 He made us clean the gym after class.

45 The sun was hot enough to cook an egg on the street.

46 |t is hard for me to get up early.

47 Bella expects her friend to call her soon.

48 |t is dangerous to drive on an icy road in winter.

49 Jenny told me not to believe superstitions.

50 The math guestion was complicated enough for me to give up.
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CHAPTER 05
=SAl

| POINT1 S%Ale] Hefiot 20l

1 Not getting enough sleep can make people tired.
SET S XX| Rote A2 ARES T2t Bt & QUCh

2 | am sorry for bothering you.
LS WalisiA Ojeksich.

3 Taking pictures of birds is my hobby.

MEel AEIE A= A2 L2 F{0|o|Ct.

4 Tony apologized for spilling coffee on the table.
Tony= AlEH0|| Hu|E S2I Z30i| CHal Afztict

5 Michael enjoys surfing on huge waves.
Michael& 7{Ct2t ihzolif MHsts 2ig S7ict.

| quit wasting my time on spreading gossip.

Avoiding the problem will make the situation worse.

6
7
8 Their goal was landing the spacecraft on the moon.
9 David regretted not helping his friend.

10 Janice kept asking why | was late.

POINT 2

SHAL} O FAIE SF{0|Z ME SA}

My dog enjoys chewing the shoelaces.

Mr. Swan promised to take his daughter to the park.

The insurance company agreed to pay for the damages.

We considered remodeling our house before winter.

Sarah gave up running for student president.

Children must learn to behave at the table.

We plan to advertise our product more actively.

He kept jumping on the bed.

VO 0 N O U1 AN =

Our class practiced singing for the talent show.

POINT 3

SHAIP} ORFALE BE SX0|2 ME A

They tried using the machine beforehand.

| regret to inform you that your flight has been delayed.
Never stop trying to improve your grades.

She continued running until she saw the crosswalk.

He remembers visiting New York when he was a kid.

| forgot speaking to you earlier on the phone.

Marathoners are trying to finish the race.

She always remembers to turn off the lights before leaving.

VO 0 N O U AN =

The criminal regretted stealing the painting.

10 My cat likes chasing[to chase] birds in the backyard.

POINT4 33At g E3

| feel like watching the newly released movie.

Ben’s mom kept him from playing computer games.

Henry was busy preparing dinner for his family.

You can decorate the room by hanging some pictures.
On opening the door, | greeted my friend.

a A NN =
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p. 61

p. 62

p. 63

6
7
8
9

I'm not used to wearing makeup.

Anne had trouble concentrating in class.

| couldn’t help smiling when | saw the present.

We thanked Noah for inviting us to the picnic.

10 The boys spent the day reading comic books.

2

IE-EJHI 21 XIS X[z orgay

01 Playing badminton is always fun.

02 My little sister had trouble tying her shoes in the morning.

03 | don’t mind swimming in cold water.

04 Chris spent all his savings helping the poor this year.

05 Finishing the race made me proud of myself.

06 Gardening is my mom’s hobby.

07 Matt thanked me for taking care of his dog while he was away.

08 She enjoys watching movies on the weekend.

09 He will be busy preparing for the birthday party tomorrow.

10 Eating the wild mushroom caused food poisoning.

11 Carol forgot lending me her hat yesterday.
12 Rick kept coughing during the class.
13 We continued studying[to study] despite the noise.

14 They gave up persuading James to join their club.

15 We regret to inform you that the elevator is out of order.
16 | forgot to water the plants before | left.

17 Mr. Smith considered hiring an interpreter for the meeting.

18 The twins started arguing|to argue] about their favorite soccer

teams.
19 The thief avoided answering questions at the police station.

20 George regretted being rude to his science teacher.
21 Aaron needs to talk about his grade with his parents.

22 Making a campfire with wood isn’t difficult.

23 On arriving at the airport, | saw my family.

24 Sarah promised to keep in touch with me when she travels in

Canada.
25 | look forward to getting your postcard.

26 Britney finished drawing beautiful flowers on the wall.

27 Baking cookies and cakes for my friends is always fun.

28 Mr. Klein’s idea is worth considering.

29 They hope to improve their health by exercising regularly.

30 Dave is used to having dinner by himself.

31 | feel like relaxing at home today.

32 Henry got angry at me for not telling the truth.
33 The children couldn’t help eating the cookie house.

34 Mr. Holmes was interested in solving crimes.

35 The class is busy taking a test now.

36 Not using shampoo is an easy way to protect the environment.

37 The gymnast had trouble[difficulty] keeping the balance.

38 Hannah went skiing instead of skating.

39 A: Jack, did you throw out the trash?
B: Oops, | forgot to throw it out. I'll do it now.

40 A: The sun is so strong today.
B: You can protect your skin by using sunscreen.

41 A: Do you remember the trip to Gyeongju?
B: Yeah. | remember seeing Cheomseongdae there.

42 A: The cream soup is boiling.
B: Keep stirring to prevent it from burning.




43 Nate: Thank you for inviting me to dinner.

44 Jess: | was busy studying for the math exam.
45 Anne: I’'m looking forward to going fishing on the weekend.
46 Eric: | feel like taking a break before riding bumper cars.

01 (3%] ‘Hi=RIE X|= 2'0[2k= 2|0|7} £|0{of st2& ‘~sh= 29| 2|0|E
LtEHHE SHAL =0 Playing S 7F& M| £2C} (» poInNT 1)

02 (3E) ‘A Fi= 20 o2 ZAQUCHE 2|0]7} |0foF 122 “~5He 20|
0131%2 ZiCre| o|0|Z LIEtL= Thave trouble + V-ing,& Lt
(> POINT 4)

03 (@& mind= SHAIE 2X0{2 M= SAI0|Z 2 Fof SHAL swimmingS
2ACL (> POINT 2)

04 7?'—*°* ANEHES EE Ao 19| BE MFE HChe 9|0|7t =|ofoF 22
~otr]| AZ/ES APl 90| LIEHL= "spend + A[ZHE + V-ing,E
2ALCL, (> POINT 4)

05 BFE e Wol2k= 2|n|7t £|ofof st2 & ‘~sh= 29| o|0|E
LIEtH = SHAL 20 Finishing= 7+& MX| £2Ct. (> poINT 1)

06 (3] F@ 7H7'2H= o|0|7t E|0{0F SIEE *~5t7['Q| 20| E LIEH = SHAL
Z0{ Gardening= 7}& MX| £L} (» poiNT 1)

07 (8] ‘1o JHE SEHE Ao tish Liof|A| ZARICEEH= 2|O|7t E|0{of stE 2
-5k Z40]| CHaH ~of| A ZHAIBHSICF Q] 2|0|E LIEHN = "thank ~ for
V-ingsE £2Ct. (> POINT 4)

08 enjoy= SYAIE FHOZ Mz SAI0|2E F0f| SYA watchingS
#2C}, (> POINT 2)

09 [#&] ‘M TIE|E Z=H|st=2} "I Zio|Chat= o|O| 7} £|0{oF stE2 ‘~at=2}
HfeCEo| o|0|E LIEHHE Mbe busy + V-ing = £2C}. (» POINT 4)

10 ‘Opd HAIS B2 ZP0l2k= 2|0|7} £|ofof stE2 ‘~st= 22| 2|0|E
LIEHN = SHAF 0| Eating2 71& HX] 2L} (> poinT 1)

n (@10l ~§t A4S ACrek= o|ojo|2 = SAL forget Fol SHAL lendingS

AL} (b POINT 3)

12 keep2 SYAIS SHO|Z A= SA0|Z2 Flof| SYAF coughingS L
(> POINT 2)

13 continue= SYAIR} toREHALE 2T SX0{E M= SAI0|EE Fof
studyingO|L} to studyZ #2C}. (» POINT 3)

14 give Up2 SHAIE SHOZ M= SAO|22 Fof| YA persuading2
AL}, (b POINT 2)

15 ‘~5t7| £|0] RZO|CrEh= 2|0j0|2 2 SAt regret F0]| toHAL to
inform £2C}. (» poINT 3)

16 (Of2Hof)) ~g A& SlCPEk= 2|0j0|2 2 AL forget F{0f| to £ AL to
waterE £2L}. (» POINT 3)

17 (2] consider2 STHAIE SH0{Z Y= SAI0|2E F0l| YA} hiringS £2CH
(> POINT 2)

18 [3%] starte= SHAIRL toRTAIE B SHOE M= SAO|ZE Fof|
arguingO|L} to argueE £2C}. (» POINT 3)

19 avoidE= SHALE SHOZ M= SAI0|E 2 F0f| YAl answering2
22CL (> POINT 2)

20 (8] ‘~$t WS FS|tChEh= /0|02 2 SAt regret {0 SHAL beingS 2Lt

21 (%] neede toRHAIE SHOZ M= SA0|2 2 talking2 to talk2 1IX{0F
SICE (> POINT 2)

4] Aaron2 19| 23 10| Aof Ths olop|g Bt e,
22 SYAL FOE T4 FZ5IEZ SALaren'ts isn't=2 X0} ST
(» POINT 1)
YxjoR HITO[0jZ RS A2 OFX| L.

23 (ai&]) ‘~5tXHOFKFEH= Q|0|E LIEHHE= Ton + V-ing S MOf 5122 arriveS
arriving@ 2 11X0f BHC. (» PoINT 4)

24

25

26

R

S0l &SRO, Lis Lto| 7HES ST

promise= toR™HAIS SHZ M= SA0|2 2 keepingS to keep2 2
XOF Bt} (> PoINT 2)

Sarahis 147} FHLICHS 0133 ol LI} 7|%5 Qi2te7| 2 Qb&3iCt.
‘~3t= A2 7|chstokets 2|0|E LEHHKE Mook forward to + V-ing.Z
MOF 512 2 get2 getting@ 2 11X{OF SICL. (> POINT 4)

Lis dl EME e S 7|TiEHT

finish= SHAIS SX0{2 M= SAIO|E 2 to drawZ drawing2 2
X0 Bt (» POINT 2)

Britney:= #0f| OtSC}
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‘~g JIR|7t CFek= 2|0|E LERt= "be worth + V-ing,S MO S22
to consider2 considering2 2 X0} SIC}. (» PoINT 4)

Klein M|2| M2t2 Ta{st 7tx|7t QUL

hopeE= to2HAIE SX0{Z M= SAI0|2 2 improvingS to improveZ
X0 B (» POINT 2)

JSS FENOZ 2SM 150 LS HAATI HiRiC,

oo —

ste Ol el=siobete 9|0|E LEHK = "be used to + V-ing,S MOF
StEZ haveE having@ 2 X0} SICt. (» PoINT 4)
Daves XA XEg Y= 20 2=sict.
#|10 AlCret= ©|0|7t =[0fof tEE ‘~5t1 AICFo| o|0|E LIEHE Mfeel
like + V-ing,E #2Ct. (> POINT 4)
ME|AIS] 2X0] X2|0|22 SHA} tellingS A1, ‘LsIX| 42 Z0|2k=
o|0|7} =[0{of stE 2 2FY notS SHAF 20i| £2Ch (> poinT 1)
‘HX| %S 5 UACKEH= 2|0]7t =[0{0F 2R “~5X| S 4= QURACFQ
O|0|E LEIHE fcannot help + V-ing & £2C}. (> POINT 4)
‘~5h= Zd0]| 2tAlo| QICket= 2o|o|7t £|0{0F 3tE 2 be interested inS
M, MR|AKIN)2| SX0f Xt2|of| SHAL solvingS £2L}. (> PoINT 1)
‘A|3lS HLz} HpCbaHs 0|7t E|0{of IO ~5tat HpHCFo)|
o|0|Z LIEHH= Tbe busy + V-ing,2 2L}, (» PoINT 4)
0] Xt2|0f] SYAL usingS 2410, "MX| b= Z0|2k= 2|0|7} E|0{0F

SIEE 2HE notg SHA A0l| £2CF (> poinT )
‘TS e oHSS ALKt o|0|7t E|0{0F S22 *~Sh=d|
0{2{28 Z4Ctol o|0|E LIEILYE Thave trouble[difficulty] + V-ing.S
22T} (> POINT 4)
~at2f 7Cret= 2|0|7} £[0{0f 3tEE fgo + V-ing,E A1, MX|AKof)2|
2X0{ X2|0f| SHWA} skatingS 22C}. (» PoINT 1)
‘(O]2Hol) ~gt WS LCF2t= 2|0j0|=2 SA} forget Fofl toR2 ™A to
throwZ £2C}. (» POINT 3)
A: Jack, L M{|7|S B{ZL|?
B: 0], JE Hi2j= AE A0, X2 EAL.
‘~StOZM'2t= 2|0|7} E|0{0F 3E2E Moy + V-ing = £2C}. (> POINT 4)
A: 25 EfO| 2= Ztel.
B: Hi= XM XITHHIE AFSEoEMN 2| IR E HSE = Qlo].

oo—:

‘(@A) ~5t 2S 7|4siChEl= 2|0]0|2 2 SA remember F{0fl SHAL
seeingS £2C}. (» POINT 3)
A: e 32 2fE -lE 7|stL?
B: 8. L= H7|M HAOE 2 AS 7[5,

-7} ~3K| 281 siChet= 2|o|7t E|0{of 822 Mprevent - from +
V—ngE 2AC} (> POINT 4)

32 sZ7 R Qo]
B J740| EHX| ot A% XMOjF.

-3t ZA0l| CHaH ~Of|H| ZHAFSHSICYRHS 2|0|7} E|0{0F 512 2 rthank ~ for
V—ngE 22T} (» POINT 4)

0

Nate= SU0|A 2 MEHSHYOICt. T OFF| SHROIN B2 ARISS 2|
RBIC. J2fA Arte TH2] 71ET X AAS SH=S 18 Eofsh|2
Bt
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44 (@8

45 (318

46 [3E)

16 Ao

O] &2l X Nate= 220 A| H2ta &SHL=7H?
Nate: X1 AAtofl LIS ZCsliF A 10t

‘~5t=2} HiBCFek= o|0|7t E|0{0F 5t2 2 Tbe busy + V-ing.S 2L}

(> POINT 4)

Jess= CIS30| 323t 8 AIE0| AO{IM O Z2 D M=
JEE #Ct 7t LE0l| HEES oldis u, a4 ZI7 Amy7t Ee
StX| 42 Zi0i| Chal| &7t it BIAIXIE HHHACH

O] M2l A Jess= AmyOi|A| Hatn Z5i2=7t?

Jess: L= 8 A|[&S 2l SHst=2t HIE0.

i
rr
e
I

‘~Sh= 0] Cisl 7|chstch k= 2|0f7t £[0{0F 5t2 2 Mook forward to +
V-ing,E £2Ct. (> POINT 4)

Of|, Anne2| OHith= Z=H0j| S0 L4t &1 HAIS 717| 2 AL3Ct
JidE 3 AES AdotofA 21, 4= Anne0| OfE A =77l= K|
=Uch

O] 420l M Anne2 0t0l|| Rt Zstzl=7t?

Anne: M= FZ0]| HAIst2] Z7Hs 20| 7|CH=l L.

‘~5t11 AlCF2k= o|0|7t £|0{of StEZ feel like + V-ing.S 2Lt

(> POINT 4)

Eric2 19| ZIE3t 50|Z @0l UCH 19| RS2 X|Z HHFHE Ef
AO{Stct JFX|2H Eric2 RM2 SHAAHE & o) £0| SYHAAM

HI7IE Ef7| Tol| FAIS F[517|E |t

O] 4&H0l|M Eric2 19| ZIFS07| H2t 253
Eric: L= 7S E7| Fofl FAIE Flst 401
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CHAPTER 06

POINT1 sixiEAtet at7{2At

The firefighters entered the burning building.

Jeremy threw out the rotten carrot.

The house was robbed by two burglars.

We saw the singers dancing on the stage.

The children are looking for the presents hidden in the room.

Pour the boiling water into the bowl.

The kite flying in the sky is mine.

David wanted the tree trimmed in a diamond shape.

O O N o0 U1 AN =

Bailey’s essay included interesting perspectives.

10 The quiz given by Mr. Stevens was very confusing.

11 You can’t refund the damaged items.

p. 71

POINT 2

AYS LIEHE 24

1 A:Did you hear that Mr. Harris had a heart attack? He looked so
healthy.
U= Harris 417} ME0H|IE 2oiCh= A8 SAL? O i sl
B,
B: Yeah. | was shocked by the news.
3. L= O Ao A4S 2o,
| wish they didn’t send spam messages by phone. They irritate
me so much.
Lh= O50| Het2 A HAXIZ 2UX| ko™ Z70. OAUS
HE WELEA 5.
B: I know. They are so annoying.
L& 20}, IRE2 LT WBLHA 8l

rlo
U

Lt

Did you know that dogs wag their tails when they are excited?
U= JHE0] 20| LtH S0 WE|E = S YULI?

B: That’s right. My dog Max does that when | come home from
school.

J2ff Stot. Ltef 7 Max= Lh7t st ol Foj| 2 %A 3.
: Did you watch the speech given by the new president? It was
great.
U= M CHEZ0N 2lal F0{Z NS FHL|? J2 28301,
B: Yes. Her speech about the country’s future was very touching.
J2f. Z7t2] of2fofl chst J14o] (M2 i ZSZ0IA0].

5 A: Il heard that you slipped on the ice yesterday.

Lh= IZHofd| 220l "oRTte SU01.

B: Yeah. Falling in front of my classmates was so embarrassing.
SoL Uff Bt ZIE Aol EOojX|= A2 01 A0,

Neal is satisfied with the quality of the new sofa he purchased.

| read an interesting article about the history of Afghanistan.

O 0 N o

These amazing inventions caused the Industrial Revolution.

POINT 3

EATE UEEY

1 While she was watching the news, Ms. Wilson drank the rest of the
coffee.
— Watching the news, Ms. Wilson drank the rest of the coffee.
FAE HHA, Wilson A= LITX| IS OFALCE
2 Because the lion ran slowly, it could not catch the antelope.
= Running slowly, the lion could not catch the antelope.

p.70

My grandparents were pleased when we visited them last weekend.

p.72



HHs| FRV| W20, ARt S TS+ UUCH

3  When we finished the test, we handed it in to the teacher.
- Finishing the test, we handed it in to the teacher.
NBS BHE t, L2l 1248 MM HSHC,

O=2 EME = —AE oo

4 Since she was nervous about the contest, Amy couldn’t sleep last
night.
— (Being) Nervous about the contest, Amy couldn’t sleep last night.
chizlolf chsh Aol =|01A, Amy= X|:Hehofl & & 4= ATt
5 As he didn’t know what to do, he stood still.
— Not knowing what to do, he stood still.
FRE o EX| Z2HM, 2= 7H2ts] MAUACH

y —1

Hearing the fire alarm, | exited the building right away.

Not having an umbrella, Brian got wet in the rain.

6

7

8 Cooking breakfast, | listened to the news on the radio.

9 Carrying her bags, Ms. Benson got on the bus immediately.

10 Turning left on EIm Street, you’ll see the bank on your right.

POINT4 =72l ciotst ojn| p.73

1 Getting lost, we checked the directions.
— After we got lost, we checked the directions.

calL J1S o0lo = =to a0l
2= LS ol F0f|, YEkS Solghrt.

2 Feeling tired, | went to bed early last night.
— Because | felt tired, | went to bed early last night.
L= mj=37| w20, ofsttoll &2 Xi2] ZiCt.

3 Watching the soccer game, | cheered for my team.
— While | watched the soccer game, | cheered for my team.
Lt= 57 47|18 B 59, Lto| 22 2ls S|SICE.

4 Slamming the door, he woke the sleeping baby.

— When he slammed the door, he woke the sleeping baby.
JE 22 ¥ okn ES o, X2 s oIS MHRC

5 Doing homework, they did not have time to watch TV.
— Since they were doing homework, they did not have time to watch

TV.
52 SHE st JA7| WhZoll, TVE & AlZH0] §iUCH
6 Looking out the window, Beth saw snow falling.
— As Beth looked out the window, she saw snow falling.
Beth= &= H2 57| 201, =0] Li2l= A2 Sk

o 1= M

7 Turning right, you'll see the children’s park.
= If you turn right, you’ll see the children’s park.
Qreb L7t @EZ o= =LA, 0f210] SYE = Z0ICt
8 Needing help with his homework, he called a friend.
— Since he needed help with his homework, he called a friend.
J= 19| =H|of] =20] 37| whzoll, Fl1of 7 TS JHC.
9 Waiting for the bus, | read a book about pirates.

- While | waited for the bus, | read a book about pirates.
Li= HAS 7|CH2|HAM, siZ{of| Cigh 22 UL

POINT5 with + AL+ A} p. 74

Jane is running with her dog following her.

The dancer performed with the audience watching.

We built a sandcastle with the sun shining down on us.

Chad slept on the sofa with the TV turned on.

The farmer was able to relax with the crops harvested.

You should not drive with your legs crossed.

Have you ever tried to walk with your eyes closed?

We had to wait at the airport with our flight delayed.

VO 00 N O U1 AW =

I ran into the house with my friend standing at the door.

10 The man read the letter with tears running down his face.

11 Sam sang a song loudly with his windows opened.

POINT6 SaizAns 75

1 The car being broken, Mr. Brown took the subway to work today.

2 The police arriving at the house, the thieves ran away.

The sweater being made of wool, you can’t use a washing machine
to wash it.

4 Tomorrow being Saturday, | will play computer games until 11
o’clock.

Frankly speaking, | thought that book was very boring.
Generally speaking, children can learn everything easily.
Considering the high cost of this laptop, it should work better.

0w N o u

Judging from Kelly’s reaction, she was satisfied with the birthday
present.

9 Strictly speaking, you can’t go in the pool without a swimming cap.
10 Speaking of Ms. Robertson, | heard she will be retiring soon.

2 IE.E_'-I-II 21 XIS X[z oigay p.76

01 The festival will be held at Hangang Park.

02 The conclusion of the book was disappointing.

03 Turning left, you can take the highway to Busan.

04 The ambulance drove with its siren ringing.

05 Not seeing the man, the bus driver passed by.

06 Owen drew a rabbit jumping on the moon.

07 Christine felt embarrassed when she fell. [When Christine fell, she
felt embarrassed.

08 Walking into the room, Kevin noticed the broken lamp.

09 It was a beautiful morning with the snow falling quietly.

10 Not having much time, | didn’t wash my hair.

11 My mom was standing at the door with her arms crossed.

12 Grandmother told us a touching story about love.

13 Not being ready for the test, Amy got an F on the midterm.

14 The boy saw the bird building a nest.

15 Climbing the mountain, Jerry collected colorful leaves.

16 The pilot landed the plane with his seatbelt fastened.

17 Nathan was annoyed by his sister singing in the room.

18 Not being interested in politics, he refused to become a president.

19 Kelly painted the picture hanging on the wall.

20 Watching a movie, Beth ate a bag of popcorn by herself.

21 Driving past the store, you’ll see the restaurant.

22 Cleaning the bathroom, | found my ring.

23 Not feeling sleepy, Chloe watched TV.

24 | eaving for school, Liam closed the door.

25 Hearing the thunder, my dog started barking.

26 Going straight two blocks, you will reach the park.

27 Cooking steak, he adds a lot of pepper.
28 (Being) Scared, she cried like a baby.

29 Turning off the light, | went to the bed.
30 Playing the new video game, he felt sick.

31 surprised — surprising

32 freezing — frozen
33 Smiling not = Not smiling

34 driving — driven
35 Write = Writing
36 stealing — stolen
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37 boring ~ bored

38 ridden — riding

39 Didn’t ~ Not

40 worn — wearing

41 Entered — Entering

42 painting — painted

43 Listening to music, Joseph watered the plants.

44 Ben fell asleep with his mouth opened.

45 Everyone had a satisfying meal.

46 Sitting on the sofa, we talked about cats.

47 You shouldn’t leave with your shoes untied.

48 She felt excited about going camping.

01 (EE] A= ¥2l= tho|22 £32| 20|E LIEH = IHEAIES besAt ol
2ACL, (> POINT 1)

02 [##] Z=0{ the conclusion of the book2 ZIHE YO 7= F=H[0|11, FEA}
disappointing0| FHE E& MYHstT ooz EO{ Xt2|of|
disappointing2 £2C}. (» POINT 1)

03 ZUS LEH= BAIL20|2 2 Turning left 2 2L}, (» poINT 3, 4)

04 [FE) ‘Afojalo] S2|= xj='at= o|0|7t Elojof 5o -3t R='9| ojoj=
LIEILH= Twith + HAL + 2AHE £2CL (> POINT 5)

05 (3] O|RE LIEHl= BAITE0|1, EAMTES BHE2 2AF 20l notg 204
OSSO 2 Not seeing the mans £2Ct. (» POINT 3, 4)

06 BRHZAL jumping2 FX|ALE(on the moon)et 8174 715 0| R0 20f0f
S22 WAL a rabbit F0|A HALS £=AIGICE (> poINT 1)

07 (%) Z0{ Christine ZAE L= F=H|0|11, YA} embarrassed?} =012
HE Mgt Qoo 2 HO| XI2|0]| embarrassedS #2LCt. (» poINT 1)

08 (#E) SA|SES LIEHL = 2AL20|2 2 Walking into the roomS
broken2 HAl lampE 441512 2 the broken lampS £2C}.
(> POINT 1, 3, 4)

09 =0| &3] LH2|= otSCH: OFElol2te 2|n|7t =|ofof st2 2
‘~StHA Q| o|0| & LIEHE "with + HAL + 2ALE 2L} (> PoINTS)

10 O|RE LEl= 2AIE0|1, AR 2HEH2 2At 20l notE 204
OH=OZ Not having much timeS #2Lt. (» POINT 3, 4)

1 ‘WIS 71 M2'2k= o|0|7t E|ofoF SRR ~5t AHZ'2| 2|0|E LIEH =
Twith + YA} + EALE 220} (b POINT5)

12 ‘USHQI o[oF7|'2k= 2|0|7} E|0{0F 510, story7t ZHE L2T|=
ZFH|0|2 2 M EAL touchingS £2Lt. (» PoINT 2)

13 [Ed] O|RE LIEH= 2ALE0|1, 2AITES| 252 A 20l notg 01
OHE B2 2 Not being ready for the testS 2Lt (» poInT 3, 4)

14 SRE 5!" A= I M2k 2|of7t =|0{of 5ti, 2AHH 1 UE0]

£AJ3H= YA the bird2te| B2t 5S0|22 SAYAf buildingE £},
SIXHE AL building2 SH0{ a nestt | AA0{0F 52 2 HA} the bird
Fof| £2C}. > poiNT 1)

15 SAISES LIEHL)E BAFL20|2 2 Climbing the mountainS 2L},
(> POINT 3, 4)

16 OHHHES i X 2'2h= o|0|7t =|o{oF StEE -5t A='0| o|0|S
LIEHLH= Twith + YA + £ALE 2201 (> POINT 5)

17 ‘NathanO| WZ0| LCF= 2|0|7} £|0{0F oHII1 NathanO| Z™g 7|l=
CHAO|Z 2 T EAL annoyedE #0t MBS LA st 219! ‘Leafstn
Q= T19| {EMS EAL L2fiaH="0] $Al5H= WAY his sister@to] 2|7}

550|282 SMEA} singingS 2L}, (> POINT1,2)

18 (#E] O|RE UEH= 2AME0|1, AT ES| 2FAH2 A 20l notS 0
=S 2 Not being interested in politicsE £2Ct. (» PoINT 3, 4)

19 ‘#0f| Z2{U= I20|2k= 2|0]7} £|0{0f 5Hh{, 2AH ZEE{RU="0] A5k
HAt the picture@te| 7|7t 50|22 SHXHEA} hangingS £2C}.

ST 2At hanging2 F XA (on the wall)2t &7H| F1E 0|0 A40{0F
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T OEEAZQISH= AALE FHCE
SASEE LIEHLE 2AFL20|2 2 Sitting on the sofaZ 2L},
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POINT1 aiiciyael 9igtal E7 p. 82

My friend jogs every morning. He lives next door.

Lto| Zl7= Oie OFF =& §Hh = Tl Atk

— My friend whol[that] lives next door jogs every morning.
A0l At Lo| ZF= OHY OFF =2 S St

Linda was the first person. She arrived at the meeting.

Linda& 51 ¢ ALZHO|RACE JL4= Slofol ==tiCt.

— Linda was the first person that arrived at the meeting.
Lindai= 3|2|0j| =2f6H & #ai| ARRHO|RUCt.

She has a cat. The cat’s fur is black.

Jif= 1Y0|E 7kX| 1 QICk O 1Y0lef 22 ZFAo|ch

— She has a cat whose fur is black.
= =o| ARl 1Y0|Z JHX| T QUCk

| found the key. You lost it in the park.

Lte Q2(E FQUTh U7 32iE S|0IA LoiHFICE

- | found the key which[that] you lost in the park.
L= HIZ7H S2I0IM 2lo{HEl B4l ZUCE

There is a man and a dog. They are sitting under the tree.

SRt JH7F QUCE OS2 LIS of2fol| SfotRlct

— There is a man and a dog that are sitting under the tree.
LIS ofzHol| SfotRl= HAtet 747t QAct

| don’t know the man wholthat] called me last night.

| like the house whose garden is full of rose trees.

Let’s buy the very hat that the clerk recommended.

The television which[that] is in the living room isn’t working.

POINT 2 37IH™AL what p.83

What Jerry told the teacher was a lie.

Can you show me what you drew in the sketchbook?

That watch is what | was looking for.

I'll check what | can do for you.

What she wanted for a birthday present was a new bike.

What you need is a new coat for the winter.

What we learned today was basic French expressions for beginners.

Santa Claus will know what you wish for Christmas.

What they cooked was set on the table.

10 | wanted to ask what | can do to help you.

11 Sam told Ricky what he should pack for the trip.

POINT 3

EchEALe] AlA 84

The flight was delayed. It annoyed passengers.
YSHO| X|A=UCt. OR2 MESS MBL 3L

- The flight was delayed, which annoyed passengers.
8HBE0| KIE|Rt=, 122 ARRIES KBL FCt.

They went to the supermarket. It was full of people.

JS2 w00 ZiCh X2 AMREE 715 & AUCH

— They went to the supermarket, which was full of people.
J52 OB Zhedl, X2 AIRER 7I5 &t JUACH

The gold medal was given to Steven. He was the fastest in the
competition.
SHE2 Stevenol| 7l FOIFCE = 1 TS0l A 7H etk

Chapter 07 Zi7{Al 19



— The gold medal was given to Steven, who was the fastest in the
competition.
SHE2 Stevenol|Z| FOIF=C, T= 11 ChS|0f|lM 718 WRICH
4 He works at the post office. It was built in 1989.
J= @AFolM LB J242 1989 0f| X|O{{CE.
— He works at the post office, which was built in 1989.
&= |20l M sk, 222 1989:0]| X|o{ZICH.
5 Mr. Erickson teaches social studies at our school. He majored in
journalism.
Erickson MM 22| &tmojlM AIS|E 712 X|ACE 1= o12Ete MASIAILY.
— Mr. Erickson, who majored in journalism, teaches social studies at

our school.
Erickson M2 o125t MIstiledl, R2[ stuo|M ALS|E 7tEX|AICH

Tina met Ms. Wright, who is a famous pianist.

It started to rain in the afternoon, which caused the flood.

6

7

8 | watched a documentary, which lasted for 200 minutes.
9 Il accidently touched a flower, which was a dandelion.

10 Everyone talked about Julia, who became student president.

POINT 4 Hx|A}+ ZAICHLAL P85

1 Who was the man? You were talking to him.
0 "R £71%1L? HE O EXiet 0|0k |E st FOIUCE.
— Who was the man whom{[that] you were talking to?[Who was the
man to whom you were talking?]
|7} 0|07 | & St FOIUHE 1 EXts S7%0L?

2 The chair is comfortable. | am sitting in it.
T o|Rp= HEksICh L= 2301 gfotQlCt
— The chair which[that] | am sitting in is comfortable.[The chair in

which | am sitting is comfortable.]
LH7t QFOFRU = 2fRH= Hotstrt.

3 Ron liked the people. He played soccer with them.
Ron2 1 AIZISS Z0RICt J= 251 & S7E 3ich

=

— Ron liked the people whom[that] he played soccer with.[Ron liked

the people with whom he played soccer.]
Ron2 17} 8hA| S71E 3T O A ES Z013ICE

4 The umbrella was small. They stood under it.
1 A2 ECEL 352 13 of2fof] MRUCE
— The umbrella whichlthat] they stood under was small.[The umbrella

under which they stood was small.]
50| ofzfol| MU= 242 Tt

5 The photo is beautiful. Jane is looking at it.
T AFEIS OFEECE Jane2 S E11 Q)L
— The photo which[that] Jane is looking at is beautiful.[The photo at
which Jane is looking is beautiful.]
JaneO| E11 Qli= T AMEI2 OFSEIC.

The house in which they live has a yellow roof.

6

7 What is the sports team about which you care so much?
8 The ticket for which she will pay is $55.

9 What is the topic about which you are writing?

10 The song to which Tom is listening is my favorite.

POINT5

A p.86

1 Can you explain the reason? You missed class today for that reason.
U= 0IRE MY £ QUL? He 25 1 0|RE ol it
— Can you explain (the reason) why you missed class today?
e @5 U7t 0l Xl O|RE HAYE = QUL|?

2 That’s the lake. | learned how to swim at the lake.
X|Z{0] O3 S0|Ch. LI7t X S4:0lM 2P S St WS HiRiCH
— That’s the lake where | learned how to swim.
XZ0| L7t +Q¥S st= HE iR 1 S0|Ct

3 [ forgot the day. She was born on that day.
Lh= O &8 Soith O = O Ejojiich

20 20{ A2 =0iFL C1FsH 5+ K12 M2 HackersBook.com

- | forgot (the day) when she was born.
Lb= J147} Efjofict O 2 AUt

4 Children need to learn the way. They should behave in public places
in that way.
Ol0|E2 Y2 HiIoF & =Rt ATt
Ht=| &SsioF it
— Children need to learn how[the way] they should behave in public

[N}

S2 1 YYo= SSFA0M o2

places.

O0|E2 SZHA0lA 0f|2| B2 fSsh= WS Hieior g Z27t ATt

Fall is the season when leaves change colors.

| know a place where we can study.

There is the café where Harry and Sally met.

5
6
7 Do you know (the reason) why she quit the soccer team?
8
9

Describe how you solved the problem.

10 He didn’t say (the reason) why he visited the bank.

POINT 6 =gtz p. 87

You can have whatever you want.

I’ll eat whichever piece of cake you give me.

Whatever happens in the contest, we know we tried our best.

You can call me whenever you need me.

You should wear whichever shirt you like the most.

However hard the test may seem, | will not give up.

Whoever spilled the coffee must clean it up.

However cold it gets, | will still go jogging.
Wherever he travels, he makes new friends.

VO 00O N o0 1 AWM=

10 Her dog follows her wherever she goes.

2 IE.E_'-I-II 21 XIS X[z oigay p. 88

01 San Francisco is the city where | was born.

02 We must be careful about what we say.

03 The actor who took a picture with me is French.

04 We found the sock which you lost yesterday.

05 Whatever you do, always try to do your best.

06 Do you remember the restaurant where we met?

07 Can you show me what you have in your hand?

08 My friend who was riding the bicycle is an athlete.

09 The watch which you liked is sold out.

10 My dad bought me whatever | told him.

11 The children played with mud which[that] made their clothes dirty.

12 Emily is the very girl that is good at acting in our theater class.

13 The man made a bowl! of salad which[that] he will eat a sandwich
with[made a bowl of salad with which he will eat a sandwich].

14 Joe changed (the time) when[at which] he will take a train.

15 The customers whose orders were missing complained about the
service.

16 The students asked (the reason) why[for which] the icebergs are
melting.

17 People talked about the festival which[that] will start on
Wednesday.

18 The boy and the horse look tired. They are sitting under the tree.
— The boy and the horse that are sitting under the tree look tired.

19 The shirt which[that] Anna spilled vinegar on was my favorite[on
which Anna spilled vinegar was my favorite].

20 Do you remember the night when[on which] shooting stars fell?




21 A city whose population was 35,000 was destroyed by an
earthquake.

22 Brian didn’t tell us (the reason) why[for which] he quit the baseball
team.

23 ltaly is the country where Sarah wanted to go.

24 Whoever wins the competition will get the prize money.
25 Did you hear what Eric did for Amy?
26 Mariah considered buying a dress whose color is purple.

27 |t snowed last night, which made the road slippery.

28 Who was the stranger whom[that] you were talking to[was the
stranger to whom you were talking]?

29 The museum is (the place) where | met him for the first time.

30 Bring me whichever you like from those books.

31 Did you think about what the teacher suggested?

32 Aaron works in a building whose architect won an award.

33 George lied to his mom, which disappointed her.

34 The old man looked for a chair which[that] he could sit on[looked
for a chair on which he could sit].

35 that — what

36 that — which

37 whom — whichl[that]

38 what — which[that] £2 the thing - &%|
39 where = which[that

40 why = that

41 That ~ What

42 that — which

43 which » whom[that

44 what — which[that] £2 the thing — &1H|
45 where — which[that

46 whom — that

47 The way you cooked the pasta seemed easy.

48 Here comes Matt, who lives next door.

49 Eugene explained how the books are edited.

50 Tim has a sister, who is a talented artist.

51 Alibrary is a place where students study.

52 Noon was the time when Josh had a sandwich.
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the night0| A|ZHS LIEH = M#ALO|Z 2 MEHAL Fl0f] ZAEAL whenS
2L}, (> POINT 5)

e O e 7|6t ? EEEo| ' Hhof| Ho{Zc,.

- s ESEo| ozl O 8hg 7|AstL|?

A cityZt AF2E LIEtLE = M&ALO|L, & HM 2H0IM AR -'s
Moo2 A CHHAL whoseE £2LL. (» poINT 1)

5t ZA|7} X|ZIS 2 Tho|E|QICH O EA|Q| @171 35,000H0|Ct.
- 01717} 35,000HQ! 6 EA|7} X|ZIO 2 || QACt.

i
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o
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Qoo Z A CHHA} whoseZ £2LC}. (» POINT 1)

0 3L a7 2s vz 1L SEYIC,
27 (68) 20 L2 F(t - last nighY2 NN HEIE AX™ S BAUWBN 47 () WIS LIERE HAL the way® £8F o ronrs)

whichZ £LC}. (» poinT 3)
48 (@) Matt2 A2 LIEHHE M8iAo| 1, & wm) 2750| Maitol E7txel

28 the stranger7t Al2HS LIEH = MEAI0|2 2 BACHEA} whom[that]S HYS 20|10 YD 2 HLH YOl A YA whoS Lt
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2AC} (b POINT 5) HHE HE0|1 QO Z H&X Ho| ZAHCHHAL whoE £2Ct.
(» POINT 3)
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EME2 sHYE0| ZESE
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2T}, (» POINT 5)
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EHao|ct
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the thing2 AtA|8HOF ST}, (> PoinT 2)

BEHES AP BHE 2 HEHI 512 SAl0|Ct.

39 (@) ZANHAIZ Fx|Ate] 2XM0|2 MUODOZ whereZ ZACHBA
which[that]2 2 H}YOF ST (> poINT 4)
W7} Chel BHme] ol=0] HL|?
40 problem2 AFEE LIEILE= MEAtO| 1, MEHA} 240l| the only7t Qo2 2
whyZ that © 2 HYOF SICt. (» poinT 1)
LIE 2§38l @ 8t 7HX| Xl= ZMACH
41 (3] MHALISERE ThatS MAHALE ZElot= BACHHEA Whato = 11X{0F
SICE (> POINT 2)

2|7t Z2st A2 Lofzte| AlzZtolt.

42 HXIAE ZACHYAL HEZ Q0| £ W= 2AICHYAL thatg £  gICBE
thatS whichZ H}FOF ST (» poInT 4)

L7t S0|7t Qe 2= AHFESE0|CH
43 (#%) the singer= AIRIS LIEIL = MIALO|2 2 whichS ZHAICHTEA}
whom[that]2 2 1170f OHZ} (» POINT 1)
Janet2 JL47} HO[Yoj| A THE Jhp0 OIS TRICH
the thing2 AIE2S LIEtL = MSHAIO|Z 2 whatS ZHACHHEA}
which[that]2 2 TX|7L} MEAIE ZEtet= ZACHYAF whatTt 7|1
the thing= AHH|SHOF SHCE (> PoINT 2)
Daniel2 Z7| o|&of| 27t Z3HEt Z40] M2ZLtX| =Lt

the flowers AL LIEL}= MHAIO|Z 2 whereE ZtAICHYAL
which[that]2 2 H}YOF SHCE (> poiNT 1)

Ltof otittet L7 o2 =2 B

46 (@) day= AIZHS LIELS M3AT0| D, M3AL 0] the very7} Qoo

22 Y0o{ AlHE 0= CheFst st K12 M2 HackersBook.com



CHAPTER 08

MAL

| POINT1 SAEZ 0|11= HEAL AZE 019 2, = p. 94

Although Jerry felt sick, he went to the gym.

Because he promised, he bought me a new bicycle.

If you want more information, check the website.

Press the button until the green light turns on.

Unless you wear warm clothes, you will catch a cold.

Mr. Smith didn’t go to the hospital even though he had a headache.

Before you open the pot, you need to put on cooking gloves.

® N o0 U1 A NN =

Since it was raining heavily, we decided to stay indoors.

POINT 2 SArES ojnE: H&AL 28, At p.95

1 The food was very delicious. He ordered more.
1 242 oi SHRIYCH T Of TR,
= The food was so delicious that he ordered more.
1 242 02 9to] QoiM T of FEFCL

2 He will save money. He can buy a smartphone.

J= =8 02 0|t = ADEES & == QICh

— He will save money so that he can buy a smartphone.
O ADIEEES & 2 UEE =2 0P ZAo|Ch.

=

3 The author wrote every night. She could finish her book.
07K §  ck Jlds Jide] M B 4 oIt
— The author wrote every night so that she could finish her book.

JEDHE Jll M2 B 4 QIS 0f AT

4 The room was very dark. He couldn’t see anything.

792 02 OfFHLE I ORAUE & 4 YRiC,

— The room was so dark that he couldn’t see anything.
O 2 {2 O{FYM J= OFRAE 2 & SIUCH

5 | wear glasses. | can see things better.
Lt= otdg ¢t L= 22 O & 2 = Tk

— | wear glasses so that | can see things better.
L= AIZS O & £ + UEE QH4S £}

| was so tired that | took a nap.

The joke was so funny that we laughed.

6

7

8 She drank coffee so that she could stay awake.

9 The shoes were so comfortable that he bought them.

10 George started a fire so that he could boil the water.

POINT3 WAES o= H&AR of2At p.96

Do you know where Emily visited yesterday?

The problem is who will pay for the damage.

Where do you believe is the perfect place for the wedding?

| don’t know why my laptop became so slow.

| will show you where the market is.

What Regina gave me was candy.

The police officer asked who reported the crime.

Where | saw the ladybugs was on the window.

VO 00 N O U1 AN =

Why do you think Amy will come home early?

10 The doctor will check how the patients are.

POINT 4 DARE 0|11= &AL that p.97

That she can speak five languages is impressive.

Everyone knows that Jisoo studies hard for tests.

It is true that Jenny will move to New York next month.

They said that they were excited to go on the trip.

[ N S

The fact is that the dinosaurs became extinct because of meteor
crash.

The point is that some diseases are related to food.

6

7 That we need more help is clear. [lt is clear that we need more help.]
8 She predicts (that) the park will be crowded today.

9 | thought (that) Sam wanted to put sugar in his coffee.

10 The fact is that nobody knows the truth.

11 That he told everyone my secret annoyed me.[It annoyed me that he
told everyone my secret.]

POINT5 9AESE o|11= H2& AL if/whether p. 98

| wonder if our team will win the game.

The hikers talked about whether it would rain.

They asked if | would join them for dinner.

Whether he believes the story is not important.
They argued about whether she had left the door open.
Let me know if[whether] the computer works.

N oo ph NN =

The question is whether he was lying or not[whether or not he was
lying].

8 My concern is whether being rich makes people happier.

9 | don’t remember iffwhether] | turned off the lights.

10 The police were interested in whether he had seen anything.

POINT 6 AzEsA p.99

1 Not only cows but also horses live[Horses as well as cows live] on
that farm.

He will move to either Italy or France for work.

You should not use your phone but listen to the lecture in class.

| think both strawberries and bananas are delicious.

She will drink either coffee or tea in the morning.

o U1 A NN

Neither the carrots nor the potatoes are used in my grandmother’s
soup recipe.

~N

You should turn not left but right at the intersection.
Both water and food are needed for survival.

Not only spring but also fall is[Fall as well as spring is] a beautiful
season.

10 He is not swimming in the water but lying on the sand.

DIE-EI'IISE TS Xz oigal p. 100

01 We should check whether the answer is correct.

02 Can you guess what the world’s largest animal is?

03 Julie fell asleep after she came back from the swimming lesson.

04 Dad started the fire so that we could stay warm.

05 Ryan watered the plants although rain was expected.

06 Whether we will arrive on time depends on the traffic.

07 Why people left the town is still unknown.
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|2 ~O0|x|2F0|aHs
although2

06 ‘~QIX['2t= o|0|E LIEILHO StEE HARE O|11=
2T} (b POINT 5)

o|0|E LEIL{OF SIEE BAIES 0
2ACL (b POINT 1)

LISEEON

05
08 The chef prepared the sauce while the pasta was boiling.

09 Laura took out a little chair so that Benjamin could sit down. F2AF whether=

10 Even though Mina and Sohee are sisters, they don’t look alike.

11 I'd like to know why we can’t cross the street here. 07 [ O|SAI}O|T1= HAPES ro|2Al + 0| + EAF, SHENZ 2T} (» poiNT3)

12 Aaron asked me iffwhether] the Eiffel Tower is in London.

08 (&) ‘~3H= SOFo|2t= 2|0|S LEHHOF 5

whileS £2Ct. (» poINT 1)

|.EI§ ﬂ!:i_A}JC-lC’ | i

13 Exercising influences not only physical health but also mental
health[mental health as well as physical health].

09 (&E] ‘~&t 4= JUE=Z'0|2H= 2|0|S LIEFHOF 5
that ~8 #2C}. (» PoINT 2)

14 I’'m not sure who brought these books. StEZ BAFES 0

15 Can you explain how we can get to the theater?

10 (%) ‘H|Z ~O|X|2FO|2H= o|0|Z LIEIL|OL S22 BAIEE 0

thoughZ £2C}. (» PoINT 1)

16 Do you remember iffwhether] you locked the safe? | = T4t even

17 Do you understand why Sarah is angry with me?

11 EE]) QJEAI7} 0|1z HAFHE FO|2AL + F0f + SAL HEHZ £CL (> PoiNT 3)

L= %U_‘_ ACh

18 The patient wondered ifjwhether] doctors could remove the scar.

19 Daegu is known for not only its hot weather but also its delicious
food]its delicious food as well as its hot weather].

E
N
2
N
>0
sy
o 1
N

20 Should we check who is absent from class?

12 (&) ‘o 2Eo| A0 l=Xl2k= 2J0|S LIEILOF StEE

21 Will you tell me where you are? ;
T& A} iffwhether]E £2Ct. (> poINT 5)

22 We don’t know iffwhether] Erica needs a new wallet.

. - o + Aaron2 Ltojl 7| ERICt.

23 Paul kept waving until[till] the train disappeared. Of[ZER o] QUL|?
24 Jenny washed the dishes so that she could use them. - Aaron2 Ltoj|7| oI ZEr0| EHO|| AEX] SQUCE
gaitideslisisolicaiattroaniftnizst 13 (@) M) HZEOOMLIZL HA AL =2t o|0|S LIENHOF 5102 AREHSAL
26 Everyone agrees that Harry Potter is the best novel series. not only A but also BE £2LC}. (» poINT 6)
27 Both men and women have equal rights. - 2ESH= Zde AMF| Azl sk o|FICt
28 Neither Jack nor Fred did their homework. - 222 ol HZol= S-S 0jzict

- - 255te A2 X ZZwnt otz Al HZo| = ¥gkS o|zIch
29 | can wait untilftill] you are ready. st= A 22 -2 e Aoz Ses ot
30 The students took notes so that they could study them later. 14 (3] O|ZA}O|TI= BAFE2 TO|2AL + 01 + SAL HEHZ MX|BH o[ 2AT}

=0| oI5tS 511 YOO Z rO|ZA} + SAL HENZ MOF BHC|
31 The performance was so long that | felt bored. Fote St IZAF+ SAL BEE MOF ST o pomT3)
« Li= SHAISER| Q4T

32 Everybody knows that Rachel is a good friend.

-7} 0| HE2 7HR|3 YLl

33 Both plants and animals require much care. - Lb= L7} 0| S S 71X| T QH=X| BHAIG}X| QiTt.

34 Kelly either forgot to come or decided not to come.

15 (3E) O|2AD}OITIE BARES ro|2AL + F0{ + 54
A -Il— A-I%IOFA O||_|')
36 | wonder if they painted the graffiti on the wall. . 2| ZEHO| OfEA Z & QL|?

37 The boy talked on the phone while he watched TV. - U= 227t SEO| ofEH Z 2 U=X| HYE = UL?

38 The weather in Korea was so cold last year that the river froze. 16 @) ~OIX|2p=

b SEHZ 220} (> PoINT 3)
35 Monkeys eat insects as well as bananas.

O|0|E LtEILHOF 52 2 HWAIRS 0|11= F&AL iffwhether]S
22T} (> POINT 5)

- HE 7|45t?

- e 20E FZL?

- U= 30 X 7195iH?

39 The band played not only classical music but also jazz music.

40 He couldn’t decide whether he should wear a tie.

41 Although he was poor, he wasn’t sad.

42 | prepared the ingredients in advance so that | could save time.
43 A hot bath is what | need. 17 (3
44 Where do you think you will stay in Germany? =

O|2APT} 0|1z HAFEE re|
A ENCIE
- Sarah= LISHE| off Sk} RL|?

|2AF + 0] + SA} HEIE 2L} (> POINT 3)

45 |t is important that we don’t make the same mistakes.

46 Do you remember what the thief was wearing?

47 What do you guess the weather will be like tomorrow?

48 | wonder who cleaned the window.

18 [3d

~ L{= Sarah7t LS| ff 317} SH=X| Of3HSH?

‘OIMSO0| HME MAHE &= A=Al'Ehe 20| LIEHOF 5tE2 BAES
0|11= T HA} iffwhether]E £2CF. (> poINT 5)

- 1 8ixte 223k
49 When do you believe you can visit me this week? « O|AFE0| O EE{Z H|HE £ =12
50 He hoped that his sister would get well soon. - 1 2tXbe 9AHS0| O BEIE MHE o~ AR S3FCH
51 Will you tell us how we can help you? 19 (E8) ‘L Stwjat ofL|2t aele 2Alo 2 E'El= |0|E LIEIL ok StE 2
52 What do you suppose the best way to start a conversation is? HEESAL not only A but also BE L. (> poinT6)

- i7e J29] =242 UM 2 RESICH

< RS 0749 o9l SAloRE O|:|10|.|:|.
i -

o1 (@) ~elX/2H= 9|0|E LIEIHO SI22 BAIES 011 F4iAf whetherS = TS 28| A2 AR OfLI= S5l BAoRE RYBIC
ECF ¢ o) 20 (&) O|2A7} 0|11 YAPHE ro|2AL + Z0{ + SAL HEAZ MX|0H o|2AP}
oS A7} O[T HAPES ro|2A} + 20| + SAL, HEAZ 22T} » poT3) FOI HYE Shl ACDRTOAZA + SAL FEHZ MOFBICE. > ponT3)

- 22| Eols &f{of &n?
~5t 0|2tz 20| S LIEH{OF 122 RAIES 0|1 &AL afters « L=7F 2Qd0]] BBHEIL|?
- ?
=0k o ponT ~ Q2| 7} £0fl WESX| 2ol sof 2l

04 [EE) ‘~& = QE=E'0|2H= 9|0|Z LIEILHOF 5t22 RAFES 0|11= H& AL so 21 [ O|SA} O|T1= WAPES ro|2A} + 0| + A} SENZ 2T} (» poinT 3)

that ~2 £L}. (» PoINT2) = =
) o LHA Zei=ULI?
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- = ofciof QUL|? TIX{0F SHCE. (> POINT 3)
- HI7H o{Cjol| RL=X| LhA| ZshaZL? _o .
M= =TT 48 O|2AP} Z0{ 9&HS 5t Y22 2 the window cleanedZ cleaned the
22 ‘~QIX|'2h= 2|0|Z LIEILHOF StE 2 WA S 0|11= F&AL iffwhether]S windowZ 11X 0f SICL (» PoINT 3)
AL}, (b POINT 5)
- P2l YX| R
« Erica= A X|Z40| ZQ35HL|?
- 22| EricaZt Af X|Z40| 2R8HX| 2X| ZStt

27 20

49 THO| ZAIZtEZ0|Lt FES LIEHLE SAlbelieve) T o|2ALS 2%
oh 2+oj| 4{0F 5t2 2 Do you believe when& When do you believe2
TIX40F SHCL. (> POINT 3)

_ . 50 ‘79| 0{540| LIotX|= Z¢0|2t= 2|O|E LIEHLHOF 5tE 2 whatS
23 (#) -3 IFX|2ts 0|02 LIEHHO} HDR RAPES 0|11 FAL untiltil] HAPES 0|71 F2AL that© 2 TROF BHCE. (- PoT 4
S £2Lt (> POINTY)
_ 51 O|Z2AI7}L O|T1= HAFEE T 2At + 0| + SAL HEHE MOF F2E can
24 (@8] ~g £ UEF0|2H= 20|S LIER{OF St22 FAFRS 0|1E F&itso weZ we canZ 11X 0f SIC}. (» poINT 3)
that ~& £C}. (» PoINT 2)
420 N 52 ZHO| SATL4Zo|Lt FES LIEHE= SAKsuppose) U o 2ALS
Ev BB = 5P = = = XA -
25 (@) A2 ~siM --3FOI2ks /0|5 LIEHHOF StRR RARES 0|1 HEA % 0 Qkof| AOF 5t2.2 Do you suppose what& What do you

8o ~ that S £L}. (> PoNT2) SUpposeE TX{0f BIC}. (> PoINT 3)

26 (3] ‘F12| AM A2|=2h= 21'0|2H= 9|0|E LIEHLHOF S22 HAFES 0|11
T&AL thatS £2CF (> poINT 4)

rr

27 (3] “gXIet 04t = CFat= o|0|E LIEIOf st2 2 A2 £AL both A and
BE £L}. (» POINT 6)

28 (@) ‘JackE FredT 51X QIQICFat= o|0|= LIEHHOF 5102 A A A}
neither A nor BE #£2C}. (» PoINT 6)

29 ‘~g W7HX'2h= 20| & LIEHHOF SIE 2 FAFEE 0|11 HEAL untilltill]
S £2Lt (> POINTY)

30 (3] ~& = UAEF0[2t= o|0|S LIEILHOF SIEE 2AFES 0|11= F&HAt so
that ~2 £2C}. (> POINT 2)

31 B ~8llA --5F0|2H= O|0|Z LIEILHOF 5122 HAIHE o|11s HaAL
so ~ that ---E £2C}. (» POINT 2)

32 ‘Rachelo| £2 ZlI7t2t= Z0|2H= 2|0|S LIEIL{OF stE 2 HARS
0|11 H&AL thatS £2Ct (» PoINT 4)

33 (#8) ‘AS1 S8 = CF2h= o|0|E LIEILHof 5l2 2 AR 4Al both A and

22C}, (> POINT 6)

34 ‘R WS AUV @X| 97| 2 AFFCHEk= o|0|E LIEtLHofF StE 2
AL SAL either A or BE £2LL. (» poINT 6)

35 AROtofL|2} B'2h= 2|0|& LIEHLHOF 5tE2 B as well as AS L}
(> POINT 6)

36 ‘~QIX|'2k= 2|0 S LIEHLHOF S22 HAEE 0|1 M&ALIfS 220}
(» POINT 5)

37 (@d) ‘~5t= S00l2ks 2|0|E LIEHLHOF SIE 2 BAMEE o|nE J
whileS #2L}. (» poinT 1)

I

[l

A

38 ‘R ~5liA --5F0l2t= 2|0|E LIEHHOF SIEE RAFEES 0|1 HEA
S0 ~ that -2 2LC}. (» POINT 2)

39 ‘Aot ofL|2} B '2H= 2|0|Z LIEH{of 512 2 not only A but also BE
24, (> POINT 6)

40 ‘~QIX'2t= o|0|E LIEILHO} StEE HAEE 0|1 = &AL whetherE
2L}, (> POINT 5)

4 ‘H|Z ~0|X|2F0|2k= 2|0|E LIEHLHOF StE 2 HAPRE 0|11
althoughZ £2C}. (» PoINT 5)

&AL

rir

42 [6) -8 4 USE0[Ete ol0lS LIEHHO} B2 HAKS 0|1 T4t so
that ~& £LC}. (» PoINT 2)

43 O|2AR7L 0| &2 50 YOO Z need IZ | needZ TXOF S}
(> POINT 3)

44 (2] QI2AI7}0|11= HAIEL ro|2AL + =0 + SAL SHEHZ MOF 522 Do
you think where2 Where do you think2 11X{0F St} (» PoINT 3)

45 (@) ‘L2 A4S HHESIK| g 0|2k 20| LIEHHOF 3t2 2 whatS
YAIHE 0|11 HEAL thato2 TIX{OF SHCE (> PoINT 4)

46 O|ZAI7L 0| = HAFER M| 2At + 0 + SAL HEZ MOf StE 2 was
the thiefZ the thief was2 11X{Of SHCL. (» poINT 3)

47 [#E) FHO| SAPMZIOILE 222 LEHH S SAguess) Of O|2AIE 2%
IH Qtoj| A{OF 5t2 2 Do you guess what2 What do you guess2
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CHAPTER 09

6
7
8
9

POINT1 7hg a

p. 106

As it isn’t snowing, we can’t make a snowman.
=0| 211 QUX| 87| wh2oll, L2|= =ARE 2 4 gich
- If it were snowing, we could make a snowman.

Qtof 20| 21 AUCHH RE|= AR 2E = S Hil.

As it isn’t my laptop, | can’t lend it to you.
J%2 W ESO0| OfL|7| mhZoll, L= 22 Lol L{Z =~ QiCt.
- If it were my laptop, | could lend it to you.

2ok 17i0] L .=ES0|2HH LH7F IS Hofl7| 24 Hil.

As | don’t have a driver’s license, | won’t drive you home.
Lt= 23867} gi7| i2oll, Lh= HE Fofl Hi2C F=X| 942 20|t
— |If | had a driver’s license, | would drive you home.

ook L7t 2T Hs| 7 ACHA L7t S Fojl Szt = Hic.
As I'm not in Spain, | can’t meet you.
LH7F AmQlofl RUX| 27| mh=oll, L= 145 BHe 4= gich
- If | were in Spain, | could meet you.

2O LHZF Amf|Qlof UCHH L= & BHe 4 QUS HiIH.

As she doesn’t have enough money, she won'’t buy the purse.
Jl{Ee S28 =0| ¢i7| 2o, = O X|LS AHX| 22 Zo|Ch
— |If she had enough money, she would buy the purse.

2tof J147 S22 =0| QUCHH, 4= 1 XS & Hin.

20

If it were summer, we could go swimming.

If John played the violin, he could join the orchestra.

If | spoke French, | would understand her.

If there were a line, we would have to wait.

10 If it were his birthday, he would get a present.

POINT 2 sbgd airjeia

p. 107

As the cook wasn’t careful, he cut his finger with a knife.
QE|Ab= RG] 47| WhEof, 2= Zofl 29| 271242 HIRACE

- If the cook had been careful, he wouldn’t have cut his finger with a

knife.
Blof Qa|AH ZAIBCIEe T 10| &2 Zof Hl0|X| It Hi

As the police didn’t find him, the criminal got away.

AEE0| 5 K| k7| wh2ofl, 2 HAXh= =YZUCH

- If the police had found him, the criminal wouldn’t have gotten
away.

DtoF ZE0| 25 HRACatH T HE|R= EU7IX| ks HiG.

As she didn’t win the contest, she went home without a prize.
Jid= 2ol A 0|7|X] R3H7| whzol, 24 2 0] Tof| 2T

— |If she had won the contest, she wouldn’t have gone home without

a prize.
BroF 147} thi2|of| M OIZ{C2HH Jld= & §10] Tofl 7HX| 42 B,

As Mark was late to the meeting, he couldn’t watch the presentation.

Marke 8]2l0f =U7| th2ofl, 2= HEE £ 4 iICh

— If Mark hadn’t been late to the meeting, he could have watched
the presentation.

2toF Mark?t 3(0|0fl SX| §RfHatH J= TEE 2 4 AUUS =

As | didn’t bring an umbrella, | got wet on my way here.
Li= RA42 7E4RX| o4%7| Whizoll, 017|2 2= Zoj| AHACH
— If | had brought an umbrella, | wouldn’t have gotten wet on my

way here.
QHOF L7} R4S THRSITIEIH L= 07| & Zof| RX| 244S Hin.

If | had been hungry, | would have eaten the sandwich.

If the store had been open, we could have bought some fruit.

26 0] A2 =0iFL L5t 5+ K12 M2 HackersBook.com

8
9

If Lisa had had a cell phone, she could have called us.
If | had studied harder, | wouldn’t have failed the test.

10 If we hadn’t been busy, we would have attended the party.

11 If | hadn’t spent all my money, | could have bought the skirt.

6
7
8
9

POINT 3

1 wish 775 p. 108

I’'m sorry that my sister wasn’t at the concert with me.
Lte| 0{S/40] Ltet &H7Hl S0l kx| RaiA 2ol

— | wish my sister had been at the concert with me.
Lte| 035 40| Lot EhH| SRH0]| Z{CHH £ Hid|.

I’'m sorry that you didn’t tell me the truth.
LlI7F LhA AFE S 2H5HR| @42 280| RZOICE
— | wish you had told me the truth.
U7 LA A S 2RieEHE 22 Hig.
I’'m sorry that the bus won't arrive soon.
HATL 2 EASHX| 942 A0|2t |ZolCt.
= | wish the bus would arrive soon.
HATEZ ZASICHHE Z2 HiG.

I’'m sorry that my friends weren’t nicer to one another.
Ui Z17S0| ME0fI7| o ZI=sHX| 2ot fZH0]Ct.
— | wish my friends had been nicer to one another.
Lj ZIRE0] MZ20i o ZI™EHCialH E2 Hig).
I’'m sorry that | don’t speak Spanish.
U7t AT|QI01S SHX| 240tM RZOIC.

- | wish | spoke Spanish.
L7 ATIQIOIS SiTIE! £2 Hi.

| wish | were better at math.
| wish the bus had arrived on time.

| wish | had worn comfortable clothes today.

| wish we went to the beach now.

10 | wish people could talk to animals.

6
7
8
9

POINT4 asif 715

p. 109

In fact, George didn’t get an A on his math test.

A, George= 19| =8 A|R0IM AS HHX| ZEICH

— George talks as if he had gotten an A on his math test.
George= 17} OFX| 27t =5t AIF0IM AS 22 24X SHt.

In fact, Lisa doesn't live in England.

A, Lisai= G=0f| &X| gb=Ch

- Lisa speaks as if she lived in England.
Lisa= OR| J1H7F F=0f| Abs 247 2rstct

In fact, | wasn’t sick.

AMY, Lt= OFZX| 44CH

- | look as if | had been sick.
Lt= OX| OFZ Z4X{3 EQlct

In fact, he is not a professional author.
AM, J= MEXQI Z7}7} OfL|CE.

[y, B}

— He writes as if he were a professional author.
O 27 H2FQI 27101 ZIME 20t

(lyume Nl |

In fact, Kate broke the vase.

AR, Kate7t 2 74ct.

— She acts as if Kate hadn’t broken the vase.
T4 OFX| KateZt 282 THX| 942 M #SSic

The team celebrates as if they won the tournament.

Ron shops as if he had a million dollars.

She swims as if there were a shark in the water.

| sleep as if | had been awake for an entire week.

10 He plays tennis as if he had practiced for years.




POINT5 without 7} p. 110

Without your help, | would have been confused.

Without planes, journeys would take longer.

Without a coat, | would be cold.

Without a cup of coffee, he might be sleepy.

Without a bicycle, | would have walked to the park.

Without a map, we would ask for directions.

Without soap, my hands would have been dirty.
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Without medicine, people might get sick more easily.

10 Without his care, the plant would have died within a week.

11 Without the dog, the police wouldn’t have found the girl.

POINT 6 It's time 71t p. 11

It’s time you cleaned your room.

It's time he rested, since he worked for hours.
It’s time you made up your mind.

It's time you went to the dentist.

It’s time we visited our grandparents.

It's time | threw out these old shoes.

It’s time we spoke about your future.
It’s time she learned another language.

It’s time you got new glasses.
It’s time | introduced you to my friends.
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11 It’s time we tried that restaurant.

12 It’s time | went on a vacation.

Without Jerry’s advice, Kate would have registered for the wrong class.
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01 If | had a bag, | would take those books home.

02 If Anna had listened to the news, she could have prepared for the

storm.
03 | wish you were a lawyer for that client.

04 That man talks as if he knew my father well.

05 |t’s time we did our homework.

06 If Jared were here, he could open the jar now.

07 If you had dried your clothes, you wouldn’t have dripped water
on the floor.

08 | wish | got a new computer for Christmas.

09 Our dog always barks as if it saw a ghost in the garden.

10 It's time you cleaned your desk.

11 If | had had enough money, | would have bought that house.

12 | wish we had been best friends before.

13 The bank looks as if it were closed.

14 Without air, we couldn’t live on the earth.

15 They talk as if they had watched the movie last week.

16 If the weather were not great, | wouldn’t stay outside.

17 If we had cheered for the team, they would not have been
confident.

18 | wish | had traveled around the world.

19 James pretends as if he were a king.

20 Without the sofa, we would have to sit on the floor.

21 Helena acts as if she had been a ballerina when she was little.

22 |f he had a reservation, he could eat in the restaurant.

23 If you had come home by 10 PM., Mom wouldn’t have been
angry.
24 | wish | knew how to make a cake.

25 |f Tom were taller, he might join the basketball team.

26 The excuse sounds as if it were a lie.

27 Without the key, we would have been locked in the room.

28 If the apple had not fallen from the tree, Newton might not have
discovered gravity.
29 | wish they would stop jumping upstairs.

30 If it snowed a lot, the children could make a huge snowman.

31 The cat seems as if it were talking.

32 Without the helicopter, bringing medicine here would have been
impossible.
33 is ~ were

34 sends — sent

35 brought = had brought
36 am — were

37 didn’t have — hadn’t had
38 will » would

39 cooks — cooked

40 woke — had woken
41 will » would
42 studied — had studied

43 A: What would you do if you could spend a day with your favorite
actor?
B: If | could spend a day with my favorite actor, | would have
dinner with him.

44 A: If you could have any special talent, what would it be?
B: | wish | could play the piano like Mozart.

45 A: My shoes smell so bad.
B: It’s time you washed your shoes.

46 A: What would you do if a time machine were invented?
B: If a time machine were invented, | would visit myself 30
years in the future.

47 A: Mom, what would you like me to do?
B: | wish you would get a haircut first.

48 A: We haven't called our grandparents for a while.
B: | know. It’s time we called our grandparents.

49 Teacher: If | were you, | would go to bed early.

50 Dad: If | were you, | would apologize to her first.
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Wesley talks as fast as a news anchor.

That tree is twice as tall as this tree]is twice taller than this tree].

The cake wasn’t as[so] delicious as the cookie.

Rick’s smartphone is as new as mine.

My painting isn’t as[so] beautiful as yours.

| don’t sleep as much as my brother.

N oo A NN =

Julie sings ten times as well as Michael[sings ten times better than
Michaell].

8 Beth tried to stay as calm as possible[she could] during the
earthquake.

9 He smiled as naturally as possible[he could)].

10 The house is three times as large as the apartment[is three times
larger than the apartment].

POINT 2 H23 H|metb|mg 2 53

Of

p. 119

1 The balloon went up higher and higher in the sky.

2 The sooner you leave, the earlier you will arrive at Busan.

3 Light travels much faster than sound.

4 Mobile technology is becoming more and more advanced.

5 My headache is getting worse and worse.

6 The smaller the car is, the easier it is to drive around in the city.

7 Because Lisa studied hard, her Spanish got better and better.

8 The pumpkin was even sweeter than the watermelon.

9 The more money we earn, the more responsibility we have.
POINT 3 A3 Hlmet 2|M3 221 53 p.120

1 This is the most expensive train ticket we have bought.

2 Mr. Hob is one of the best teachers in our school.

3 This pizza is the most delicious dish of all menus.

4 This was the scariest movie that he has ever seen.

5 Michelangelo is one of the most famous artists in history.

6 Kelly is one of the tallest girls in her class.

7 This necklace is the most valuable jewelry (that) | have ever bought.

8 Baseball is the most exciting sport of all.

9 The blue whale is the largest of the animals.

10 Sokcho has one of the most beautiful beaches in Korea.

POINT4 ZatH|ngs 0|88t 2|45 Hln

| p. 121

1 | am the youngest person in my family.
Lh= 22| 715 & 71 of2l Ajzho|ct
= No other person is younger than me in my family.
22| 715 5 CI2 ofi ARIE Li=C} of2|X| gich.

2 The Internet is the most useful invention.
QIELI2 71T K88 UHEOo|Ch
= The Internet is more useful than any other invention.
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Breakfast is the most important meal of the day.

OFEIAAL= SR & 71 £28t AlAtO|CE.

= No other meal of the day is as important as breakfast.
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December is the coldest month of the year.
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= December is colder than any other month of the year.
1282 5t &l & CHE of 25 HCt o &L

No other place in school is quieter than a library.

Hunter was slower than any other runner in the marathon.

No other animal in the sea is as smart as the octopus.

This year’s storm was stronger than any other storm in the past.

2
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01 The green jacket doesn't fit as well as the blue jacket.

02 This pen is twice as long as that pencil.

03 | stretched the rubber as far as possible.

04 Snowboarding is much more dangerous than skiing.

05 The more you read, the more knowledge you will gain.

06 Basketball is not as exciting as volleyball to me.

07 This bag is ten times as heavy as my bag.

08 Please explain the rules as clearly as possible.

09 Today’s weather is even warmer than yesterday’s.

10 The older we become, the more wrinkles we get.

11 The sofa was much[even/far/a lot] more comfortable than the
chair.

12 That company makes the fanciest watch in Europe.

13 The richer Mr. Vans became, the greedier he got.

14 Jordan spoke twice as loud as we spoke[spoke twice louder than

39 most — more

40 brighter = bright

41 delicious — more delicious

42 Best — The best

43 the windiest — windier

44 country — countries

45 Andrew is not as old as Jackson, but he is older than Thomas.

46 Jackson is as heavy as Andrew, and Thomas is the lightest of the
three.

47 A melon is as expensive as a peach, but it is more expensive
than grapes.

48 Grapes are not as fresh as the other two, and a melon is fresher
than any other fruit.

49 Amy did much better than Sam on the test.
50 This ruler is twice as long as that one.
51 Today is even colder than yesterday.

52 The glacier became three times smaller than it was 100 years
ago.
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we spoke].

15 | passed one of the most difficult tests this year.

16 | felt more and more relaxed while | was taking a bath.

17 The chicken noodle was much[even/far/a lot] spicier than the
beef noodle.

18 The Marinas Trench is the deepest point in the ocean.

19 The more you eat, the fuller you will become.

20 Hawaii is 15 times as large as Jejudolis 15 times larger than
Jejudo].

21 The durian is one of the smelliest fruits in the world.

22 The man got closer and closer to the door.

23 Fleas can jump 350 times as high as their body length.

24 \We tried to decorate the house as beautifully as possible.

25 The longer | boiled the meat, the softer it became.

26 No other form of transportation is as convenient as the subway.

27 The ostrich is larger than any other bird in the world.

28 Eric practiced the violin ten times as much as Amy.

29 You need to handle those diamonds as carefully as you can.

30 The more rapidly the temperature rose, the faster the ice melted.

31 No other way to learn a new language is better than reading.

32 This is fluffier than any other cushion | have ever bought.

33 easiest — easier

34 newer — new

35 hard —~ harder

36 greatest — the greatest

37 the largest — larger
38 friend — friends
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CHAPTER 11

212k sk

| POINT1 #9x p.128

Someone in the kitchen is cooking delicious food.

Both almonds and walnuts were put in the dough.

Modern physics is based on theories.

Finding the lost puzzle piece was difficult.

(S I N

Two hours is too short to discuss the matter.
5 AIZt2 EHFE =2lst7[of 1S T

6 The number of homeless people is rapidly increasing.
XS 7t 245] B7tet QAT

7 The United States of America is composed of 50 states.
0|=2 5071e| =2 O|F0{X QUCt.
8 The rich pay more tax than the poor.

SR8 MRS JHctet ARISECE Of B2 M3 S e,

9 Every airport has its own police department.
DE Bk IR0l ZE BATE QI

T oo

POINT 2 Aln| x| p.129

1 | am surprised that you didn’t notice my new sneakers.
L= U7 Lo A 2S3HE 20oHIA| REE 2ol SRich

AAN
- | was surprised that you hadn’t noticed my new sneakers.
Lt= U7k Lie| A RS3HE LOoHiX| REUH o) SZUACE
2 We agree that it will be nice to visit France.
el ZUAE BEsk= 20| 22 202t ST
— We agreed that it would be nice to visit France.

Re|= ZYAE YEot= U0| £ W02t SRCt

3 The children believe that their parents know everything.
Ol0|E2 189 BVt BE AS QT =L}
— The children believed that their parents knew everything.
Ol0|E2 J89| RVt BE AS ottt UL

4 My sister asks if | touched her belongings.
Lto| 0{S 42 L7t aLde] AX|ES BHRE=X| 2=Ct
— My sister asked if | had touched her belongings.

Ltof 04542 L7t 19| 2X|ES THA=K] S UL

5 Sarah wonders why Nate didn’t come to school.
Sarah= Nate7} &w0j| of QK| 4t=X| Z25|LC}.
— Sarah wondered why Nate hadn’t come to school.
Sarahi= Nate7} 3tulof| off @X| LUU =X S 2HCE.

Harry argues that the treasure map is real.

6

7 Molly thought that Koreans would speak English.

8 | asked why she wouldn’t tell the truth.

9 The customer claimed that he had found a caterpillar in his salad.

10 He says that his dream was to invent a time machine.

POINT3 Alml 2x|2| ole| L

The patient told the doctor that he jogs every morning.

He told us that the early bird catches the worm.

The police said that Namsan Tower is located in Yongsangu.

A NN =

The teacher taught us that Abraham Lincoln became the president in
1861.

It is known that Jane Austen wrote Pride and Prejudice in 1813.
Jerry didn’t know that water freezes at 0°C.

(3]

32 Yo HHE =0{F= CHYSH et5 X1E H|S HackersBook.com

7 Everyone thinks that Thomas Edison invented the light bulb.

8 My grandmother said that good medicine tastes bitter.

9 | heard that Benjamin walks his dog twice a day.

10 Galileo argued that Earth goes around the Sun.

POINT 4 =AM=2e| it M3t p.131

1 Jason said, “l invited Sam to my birthday party yesterday.”
Jason “Lt= OfA| L MULE|0]| SamS ZCHFH0]."2f1 2H3YCY.
— Jason said (that) he invited Sam to his birthday party the previous

day[the day before].
Jason2 17} M 19| MUGIE|0f| SamS ECHZHCHD L3HC
2 The woman said to the police officer, “A thief stole my purse 30
minutes ago.”
3 OfZh= A “=50] 30= Hof| ® X2 EHAR.
— The woman told the police officer (that) a thief had stolen her

purse 30 minutes before.
0 0Ktz ZEE0A =50| 302 HMof| a4 X|ZHS SHMCtD Y3HCh

3 The girl said, “It is going to snow tomorrow.”
2UE WY =0] 2 7{0F"2t 2L
— The girl said (that) it was going to snow the next[following] day.
AE OCHE Y =0| 2 72t T3]

4 The engineer said to me, “We can’t fix your car now.”
2|2 LA X3l X2 ZAIof XHE D& £ glo]. "2t Lt
- The engineer told me (that) they couldn’t fix my car then[at that

time].

A2[32 152 0 L2l X8 D 4 Y0k T

5 Dad said to me, “You should clean your room today.”
Oftiit= Lol “HiE & 12| 2e X|9/0F 3.72tn ZFHCH
— Dad told me (that) | should clean my room that day.
Oftitt= Ltoi|7| L7t 2 L &S RI9{OF SHCH1 2H34CE

6 Matt said to Nancy, “I prefer my coffee black.”
Matt2 Nancyoll7]l “Lt= Wi #u|E S0z MSs)."2tn 23HC,
— Matt told Nancy (that) he preferred his coffee black.
Matt2 Nancyol|| 27t 29| AHL|E SO 2 MSFCt THC).

7 The boy said to his mom, “I want to drink some water.”
A2 J0| AntofjA| ‘L= S A7 O[T A2t 3
- The boy told his mom (that) he wanted to drink some water.
2E2 00| Antol|A| 37t £ b7 OFA| D HRACHD THCH

(al

8 Ms. Brown said, “I don't like playing badminton.”
Brown M= ‘L= HIERIE X|= 2S FO0I5HX| g50F."2t1 3YCH.
— Ms. Brown said (that) she didn’t like playing badminton.
Brown M|= 27} HYERIE X|i= S ZOFSHA| QSUATH BFACE.

9 The man said to the chef, “The steak was very delicious.”
A= 2E|A|A| T AH|O|3 &= Of SIAUACE T LEACE

— The man told the chef (that) the steak had been very delicious.
=Rt LEIAA 3 AH|0|27t 04 SEUUACET ZhHCE

10 The clerk said to the customers, “You can get discounts on fruits
today.”
Hele aHs ‘o TiYg Holws 4 gloje. atn
— The clerk told the customers (that) they could get discounts on
fruits that day.

Hae 2SO0 152 D Thls Folwe 4 olrkn T,
POINT5 <2=29| 5 M5t p.132

1 The doctor said to me, “Where does it hurt?”
9|Ab= Lioj|IA| “OiC|7} OFZM|R?72L 11 EACH
— The doctor asked me where it hurt.
O|At= LIoi|A| OfC|7} OFE=X] ERUCH

2 | said to Mom, “How can | bake a carrot cake?”
Lt= dotol|7| “g2 70|25 ofEH 718 5= ULt 2t T3t

— | asked Mom how | could bake a carrot cake.
Lh= 0toi|A| Li7E 62 AI013E o{EA 718 =+ A=Al SUCH

3 George said to her, “Do you want to go to a movie with me?”




George= Z1LH0i|7| “Ltet BPH st Haf 7t AL|?72tn ZFcH
— George asked her if she wanted to go to a movie with him.
George= JLH07| 12+ 8HA| FStE E2f 7t A=K UL

4 The teacher said to him, “Will you explain how you solved the
problem?”
MHES 307 “UIZt o] EME ofEAH EA=K Sl L2t 2O
— The teacher asked him if he would explain how he solved the

problem.
MMEES J0j|A 37t o€ O 2HE EU=X] dHal FU=X| SUCH

5 The driver said to me, “Where are you heading to?”
28 LIO7| “0{C|2 SotAILIR?72L 0 BEICH
— The driver asked me where | was heading to.
2F £ LIoj|A Lh7t ofC| 2 ksts So|AEX| ERACL
6 Serena said to him, “Are you going to call me tomorrow?”
Serena= J0f|7| ‘4= LI LIof|A| Msteh AL 22t 2Eich
— Serena asked him if he was going to call her the next day.
Serena= 0|7 27t OCHS 'E JH0l|A| Haker 74X| SQUCH

7 The scientist said to the audience, “Has anyone heard of dark
matter?”
SIxh= 2ol Y& S| Chsh S0{EAl 20| ULIR?72t1 23T
— The scientist asked the audience if anyone had heard of dark
matter.
EIxh= 2ol 25 SHEO)| Choll S0{= ARRHO| AUEKR] UL
8 Lisa said, “Who took my cup?”
Lisa “F7F L A4S 7FMZ{L 772t 234C)
— Lisa asked who had taken her cup.
Lisas =7t 149 A2 7FMZH=X 29It

9 Isaid to Julie, “How long do | have to wait?”
Lt Julieof|A| “Lt= Y0kt @2 7|Ct2{of sti|?"2tn Zrict
— | asked Julie how long | had to wait.
Lt= Julieo|A| LH7+ HotLt @2f 7|Ct2{of =X S ULt

10 The police officer said to the man, “Why did you break into the
store?”
A2 T HRIoA 9 2 T ol EstaEL7F? 2D 2RI
— The police officer asked the man why he had broken into the
store.
ZAEE2 T HRIoA 27t el 3 7HAofl LRHA=X] EACH

AT

11 Jake said to Dad, “Was it cold outside yesterday?”
JakeE OftHtof|7| “Ofx| §+0| FRILIL? 2t LFHCY.
— Jake asked Dad if it had been cold outside the previous day.
Jake= Ofthtof|7| 1 M 0] FRI=X| EUCt

POINT 6 wzizo| 51 M3t p.133

1 The teacher said to us, “Hand in your homework now.”
M2 e[l “KIZ SHE HSsH. 2t LRIt
— The teacher told us to hand in our homework then[at that time].
HMHE 2|0 2 XS MESst2tn LRt

2 The doctor said to me, “Don’t eat too much sugar.”
QJAb= Lioi|A| “HES LS 20| HX| OtM| .72t 23iCt
— The doctor ordered me not to eat too much sugar.

SAHE LtoflAl S LR IR & HS FHICL

3 Natalie said to me, “Close the window.”
Natalie= Ltoi|7| “&2& EHot."2tm Zr3ict
— Natalie told me to close the window.
Natalie= Ltol|A| 228 Eoatn it

4 The coach said to Kelly, “Practice harder to win the competition.”
TR|= Kellyoll Al “ThlollA 0]717] sl of Eals| H&alat. atn w3ct
— The coach advised Kelly to practice harder to win the competition.
FR|i= Kellyol|7| Chzlofl A 0]7]7| 9ish O Bals| P&st2t 2T

5 She said to the students, “Don’t be afraid to ask questions.”
T sHlS0A “H2ste AS FMYsHK| Zot2t 2t Mt
— She told the students not to be afraid to ask questions.
e sPESo|A 2Ests WS FAYsHA| Latn LsHCt

6 He said to me, “Watch out for the car.”
T LIoflA| “AHE Z=4sl. 2t Z3ich
— He advised me to watch out for the car.

J= LIoIA XIS Z4lsk2tn R34
7 The security guard said to Jane, “Stay in line.”
Q{2 Janeo|7]| “E2 MM 211 ZEACH
The security guard told Jane to stay in line.
OIM QLIS Janel||A| ZS Matn 3L

e

8 My mother said to me, “Keep a record of your spending.”
Lto| dotk= Lol ‘el X|ES 7|Salat. 2t 2Eict
— My mother advised me to keep a record of my spending.
Lte] A0b= Liof|A| Le| X|E2 7|Sst2tn ZAFICH

9 The judge said to the man, “Be quiet in the courtroom.”
EAb= I ERo|A “HHOIM £&3| Sh|R. 2t RYCE

— The judge ordered the man to be quiet in the courtroom.
At O HAolA EEoIM =83 52t HHHC

10 Veronica said to her parents, “Don’t worry about me.”
Veronica= 1142| 2L XS ZAFYsHX| OfM| .72t H3HCH
— Veronica told her parents not to worry about her.
Veronicae JL42| 22| JHE Z-stX| Y2tn 2sict

11 The commander said to the soldiers, “Don’t leave your positions
today.”
X322 2SI ‘s 1i3s]e| Xt2|E mLtX| Zrotat. 2t ZFHC
— The commander ordered the soldiers not to leave their positions
that day.
X322 2SI I IS0 Xt2|E mLpX| Zatn HFCH

PN

JIE-EI'Ilgz S X |zoigai p.134

01 Henry heard (that) the store had been closed the previous week.

02 We learned (that) sunlight is used to make food for plants.

03 Mary told me (that) she studies English every day.

04 Andrew thinks (that) it is better to stay indoors during the storm.

05 My grandmother said (that) a bad worker blames his tools.

06 Jamie saw (that) the tree had fallen the day before.

07 The teacher explained (that) supply and demand controls the
market.

08 | found out (that) Jack reads the newspaper every morning.

09 Scrooge didn’t understand (that) money wasn’t everything

10 | knew (that) water consists of hydrogen and oxygen.

11 Dan ordered Ben to wash his hands to get ready for dinner then.

12 Andy told his mother that he wanted to have a sandwich the next
day.
13 | asked Jake who he was waiting there for.

14 Tim asked Lisa iffwhether] she would go to the dance with him.

15 Laura told her friend that she had won the singing contest the
previous year.

16 Our math teacher ordered us to solve those problems in ten
minutes from then.

17 The dentist told Ms. Clark that she needed to visit them the
following week.

18 The police asked the man who he had talked on the phone with
the previous night.

19 The vet asked me iffwhether] my dog had eaten a lot of sweet
potatoes the day before.

20 She told the customer that she was sorry but they didn’t have
any chicken that day.
21 Every member of the class is studying hard for the test.

22 Both speed and strength are important in soccer.

23 A number of deer are running on the field.

24 Economics is a mandatory course in high school.

25 |t is written in the book that Neil Armstrong landed on the moon
in 1969.

26 Each ticket admits one adult, so we bought three.
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27 Both my dad and mom work at the national bank.

28 The number of accidents on the crossroad is increasing.

29 The Philippines is a multiracial nation with various cultures.

30 | know that George Washington was the first president of
America.

31 The weatherman says that it will snow tonight.
32 The teacher told us that she would give a quiz next week.

33 Sarah said that she would take care of my cat the next day.

34 | think that air pollution is a huge problem.

35 My dad promised that he would take me to the theme park.

36 He said that he had wanted to watch the movie the day before.
37 She asked if | had prepared dinner that day.

38 The man told us that we couldn’t take the highway there.

39 The teacher asked if | had handed in the homework.

40 Scott told them that he hadn’t seen any strangers the day before.

41 He told me that he didn’t understand my concerns.

42 Ryan asked Julia iffwhether] she had taken the magazine.

43 The teacher told us that we could work with our partner that day.

44 My grandmother asked me iffwhether] | would walk with her.

01 FHO| WAHAF0|E 2 Z&H = THAIZF EB{UACHE 2|0|of| w2t
TAR/AZAIH|E £2CL (> POINT 2)

02 UL AMAS L M= FEO| AX|Qt 4210 Z&4H| &k STHAIME
AT} (p POINT 3)

03 (3] 3xfo| S U M= FEO| AlM|t &2telo] S&4E| et STAIME
22CL, (> POINT 3)

04 FHO| HMfAIH0|E 2 Z4HN = ‘32 S¢t Ao HREEE 20|
SICtn Mzbstre ofn|of| w2t SXHA|HIE £2CE (- poinT 2)

05 (3] ZE/ZAAS AT U= FHO| AF2t a2tgio] ZHE| &4t STAIHE

2ALCL. (> POINT 3)

06 (35) FHO| IAHAHO|ZZ E4H = 1 Mol LHR7H o
o|ojoj w2} AHLRALZAINIE £2CE (> poinT 2)

AE B

rir

07 UL AMAS U M= Q| AM|2t &2Helo] S4HE| EHat SMAINE
22LCL. (> POINT 3)

08 () Mol SUS LY W= FE AN 21810 TLEO| S FMARE

2ACL. (> POINT 3)

09 (2] FHO| MAHAIN0|22 Z£H0|= =0| T 7} Ot ATk = 2|0|of w2}
FAHR/AZAIH|E £2CL (> POINT 2)

10 et A S EE M= SEO| AN|QF 42310] ZEH| g STANIE
2ACL. (> POINT 3)

11 (3E) YHE| ZTstH0|2 2 forder + FH0] + toFHALC| YEHZ HHY £2CF

(> POINT 6)
Dane Benol K AIAE ZH[37| 9l 12| 22 Sofat atn
Lsct.
- Dang Benoll7| X AlAES (57| 9/ 12| £ Htoatn
=SB

12 Mtz Alsaid)7t HAAFO|E 2 BLE 2| HYAIH| wantS ZHAAH|
wanted 2 HHECH MEeh= AlRFe| AT 27| QEHYALS heZ Hi
EAttomorrowZ the next day= HHELE. (> POINT 4)

Andy= 12| 40101[7| “K= LY MEIXIZHHD Aloje."2tn Z3ic
= Andyi= 12| 00| Ji= T & MESIRIE | At 23HC

13 OIZATL U= 2E22| ZT SHH2 Task + FX0] + 2ZAL + FO{ +
SAHC| SEHZ HHY £2CH. (> POINT 5)

Lt= JakeOl|I| “He 047|M S8 7|CH2| 1 QUL ?72ta 2HEICt
- Lt JakeOl|[7|| 27t H7|M =31 E 7|Ct2| 1 Q=X EQICH

14 [6E] QI2AIt Qe o222 AN sHHE Nask + 2H0 + iffwhether] + 0| +

SALC| SEHZ HHY £ACY. (> POINT 5)

34 Qo Mg =0 Ost st5 X1&E M3 HackersBook.com
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Tim2 Lisaoll7l " Ltet M S%af 7tx] etgah?°ata it
- Tim Lisad|7l 1147} 19t &b S 7t%] 22X 24ct.

HMetEAl(said)7t ZHAAMO| 22 SEHO| AKX wonS ZtALZ AR
had won2 2 HIECE MEet= AtEe| LTl LA QAUECHHALS she2
HHL D EA} last yearE the previous yearZ HFELCE. (» POINT 4)
LauraE J149| Z20)7| ‘L= ZHAO| el Ch3|of|l M &304, 2t
Syct.
- Laura 42| ZIS20l|A| 147 2 & shol| 2f chslol|l M SFctn
akaiict,
= AN

HaSo| KHEHI0|2E order+ SH0| + toAALS| HENZ IR 2t.
(> POINT 6)

2|7 ‘o] 2HSE XZRE 102 U=

40

2loAH 2 EXES JuRE 102 W2 E2tn

H0
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(> POINT 4)
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SLICE 2t HEHCE
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Tor
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IS}
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O Ab= LIl A ‘2| Tl ofF| 22 D0HE ML 2t HRICH
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M= A(said)7t TAHAHIO|2 2 S&F | SIRA|K| amZt don't haveS

MHAIH was@t didn't have2 HFELCE MESH= Af2to| Ql&tof| SbA|

OIACHHALE she@t theyZ HFL 1T EAL todayE that day 2 HHRLCY.

(> POINT 4)

Jid= D20flA| “Z/&sHR|C & Xsl= 5 QE(7F ELICE 2t Z3HC)

- JlHE D207 2147t z|&stR|gt 352 O & 2|7t gictn
HCH

everyZt el FO| F|ofl= g4 HESAE MOZ areS is2 1IR{OF
SICE (» POINTT)

Ho| DE IS AIHS Flsf T45| Bt ct.

"both A and B, Fl0fl= &4t E4SAE MO isE are2 1UX{0F iCt.
(» POINT 1)

SP0ME =2t § 25 FQs6iC

1=

A number of ~ F|0]
(» POINT 1)

B2 AISE0| STl $3 9ict.

= gt BLEAE MO isE are2 1X{0f ST,

sty 0] Flofl= S CHESAIE MOZ areS is2 X0} it
(» POINT 1)
A&t t

=

rlo
K
on
o
Bl

of
A A S TE Tl= FEQ| AN|2t &2elo] ZLE| et AHAIRIE
MBZ landsE landedZ 11XO0F ST (» poINT 2)

& QAEZ0] 196910] Zof HIFFHCHD Hoj A09UCt,

A 2= 2p=0ICk

each7} 5l 0| Fof|= &4 H-SAE ME 2 admitS admits2
X0 BHCE (> POINT 1)

ZiZto] H= Mol ot ol S0{Z £ U0, 22| M FE MLE
"both A and B, 50|
SICE. (» POINT 1)

Ltof oftiet At 2= 7 20| LS SHACH

rir

Shat B4AEAE MO 2 worksE workZ2 11X{0F

The number of ~ F0fl= &t CH-SAIE MO 2 areS is2 1X{OF ST}
(» POINT 1)



29

30

31

32

33

34

39

40

41

42

44

EE]

st

st

WRHZO A AnO| =1 QUL

ol
(» POINT 1)

Floll= gt HESAE MEE areS isE 1RO} SHT.

A A E 2 = FEQ| AM|2t 2 2e10] ZBLEH0| et IAHANE
MOZ is§ wasZ 1X0f SICE. (» poinT 2)

Lt= George WashingtonO| 0|=2| & #mj CHEZ Q! IS QfCh

10

FHO| A 0|EZ ZE4H0||= ‘2 B =0| & HolCHE
O|2§AIHIE £2Ct. > PoINT 2)

TIMAEE 25 ol £0] 2 o2t &

|Djoif ekt

,.
3o

C}.

ZHO| AAHAIMO|Z 2 ZLH0= AFE LT = 200 k2t 2k Al
would giveE £2C}. (> PoINT2)

MAEHS 2|0l ChEF0l 7 AR S Lot 28ich

FHO| WHAH0|E2 Z&4H| = ‘SEICHet= of0|of w2t A
would take care ofZ #£2LC}. (» POINT 2)

Sarah= CHe & JL47} Lio| 1F0|E SHZICtT 2HEiCt

ZHo| A0 22 ELHoll= TH7|20] 2 2X|o|chets o|ajo
2} STHAIRIE 20 > poinT 2)

L= th7|2Y0] 2 2|2t Mzt

FHO| HHAH0|E2 Z&H = Tl2{7HCr 2= 2|ojof| w2k aEAA ||
would takeZ £2LC}. (» PoINT 2)
Lt9| oftih= LIE =0| 520l G247 ZiCtn k&34t

FHO| WHAF0|E2 S4HN= O MY O YstE B Aictets
olo|oj| tj2} 2tZA|H| had wantedZ 2L} (» poInT 2)

Js 72 Y O gstE B0 AUk Zsict

OI2A7L gl 2222l 2 SHH2 ask + (FX0) + iffwhether] + 304
+ SALC| HEHZ HHY £2Ct (> POINT 5)

HME| A P2 Mtell + SXO0]( + that) + 0| + SALC| FEHZ HIY
22LCL, (> POINT 4)

O|2AI7} QlE 9|2 E9| X P2 rask + (2X0) + iffwhether] + F0{
+ SALC| HENZ HHY £2CL (> PoINT5)

HMEo| Z|H sl L ftell + 2H0{( + that) + 0| + AL HEHZ HIY
2ALCL, (> POINT 4)

MRl 2 SHHE Mtell + SX0]( + that) + 0| + SALS| FEHZ HIY
2ALCL. (> POINT 4)

« J7F L] 2HEiC

- Lh= ul A4F0] osh7t =IX| =Lt

- 37 LA J= W A4F0| ofa 7t =|X| gf=Ctu 23CH

==y = A

QIZAL Gl 2Z 22| 2T SHH2 ask + FH0{ + ifwhether] + 301 +
SALC| YEHZ HHY £2C} (> POINT 5)

+ Ryan2 Juliaol|A{| £9iLC}.

« e XIS 7FEL?

- Ryan2 Julia0f|7| 2147} FHX|E 748Zb=X| S)ACt

HME 2 2 Mtell + 2X0i( + that) + 01 + SALS| FEHZ HIY
2AC}, (> POINT 4)

- MOl 22|0fAH ZEstalct

- 3l @& 3|9 THE L2t 5HH| &58 4 It

- Mol 220 I 2= 22(2| TIEHL BH &858 4 ttn

O|ZAIZ} Sl S|2E20| 27 S 2 ask + =X0] + iffwhether] + 0] +
SAHC| SEHZ HHY £2CY. (> POINT 5)

« Lte| EHL|= Lo Al SRACH

« L= Lt &M Z70?

- Lo ZL|= LIof|A| L7t a2t g1 Z23=X] SUC

CHAPTER 12
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8
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POINT1

AX:Itis ~ that 24X 12 p. 140

The president gave a speech at the museum last month.

CHEY2 X0l erE2toM 1M S 3t

- It was at the museum that the president gave a speech last month.
CHEZO| X|LtEol| oS §t X2 Hi2 HhE2to|ct

27

Paul visited the hospital this morning.

Paul2 21 OFZ/0| HRIS weyirt.

- It was Paul that visited the hospital this morning.
2= OFEo]| HalS W=6t AHRf2 HiZ Paulo|Cth

Henry took a walk in the park earlier today.

Henryls @5 2% BLlojAf A4S St

— It was earlier today that Henry took a walk in the park.
Henry7} Z2l0jq A4S 3t o= Hj2 Q5 Ymo|Ct.

Those students clean the beach every weekend.

1SS S FUjc s HAsit,

- ltis the beach that those students clean every weekend.
1 spS0| FUOICH HA 2 HEE sfeolct.

21

| called my grandmother from home this afternoon.

L= 25 2200 ZojlA Le] gojuoA| T3S 3ict

- It was my grandmother that | called from home this afternoon.
U7t 25 2501 ol H3HE & A2 HiZ Lie| mL|ict

It was the suspect that the police caught at the mall yesterday.

It is every morning that she eats an apple at home.

It is a new computer that | want for Christmas.

It was Mr. Anderson that organized the event last year.

10 It is in ltaly that we will eat pasta next week.

6
7
8
9

POINT 2

Lx: EME AZEH=do p. 141

She believes Theo stole her wallet.

Jid= Theo?t OL49] X|Zg XLt YEC)

— She does believe Theo stole her wallet.
4= Theo?} Jude| Xlztg EHCHR H Bert

Tabby knows a lot of people.
Tabby= E2 AIZISS QITh
— Tabby does know a lot of people.

Tabby= 2 ASS Y2 Qi

Pets require much attention and care.
HiSE2 B2 2int S22 Q=R St
— Pets do require much attention and care.

HE{SE2 B2 2l =52 YL o= st

Dad wears glasses when he drives.

ofts 17} S71E f oA 2o,

— Dad does wear glasses when he drives.
olr= 17t 2418 otge H 2ot

[Laghis—

| turned off the lights before | left the house.
Lh= S mup| Hofl 22 Zch
- | did turn off the lights before | left the house.

Li= EE EHU| Hol|l 22 2o

| did want to pass the exam.

Many hikers do visit the mountain every day.

The shop does get very busy in December.

The medicine did help me feel better.

10 Crocodiles do live in the Nile River.

11 She did receive the invitation to the wedding.
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12 | did remember to bring some water.

POINT3 E&x p.142

1 A nice café was around the corner.
— Around the corner was a nice café.
Z£2 7|7t Z2S0|E SO URACH
2 She seldom talked about her feelings.
— Seldom did she talk about her feelings.
Jid= X 1149| 7|=20]| CHah 0|0F7 |SH| SULT.
3 The children rolled down the hill.

= Down the hill rolled the children.
Of0|= ¢IEE 22| LiZZLCE

4 The worker was hardly busy.
— Hardly was the worker busy.
3 LSXh= 2| HHHX| §IRtCt

5 The sharks swam in the water.
— In the water swam the sharks.
20{S0] 20i|M sl AHCH
Under the tree slept the cat.
At the bus station waited many people.

6

7

8 Toward the castle walked the girl.

9 Rarely did they speak to each other.

10 On the wall hung the picture.

11 Hardly could she believe the news.

12 Never have | flown on a plane.

POINT4 =2H p.143

None of the computers in the library worked.

Fruit juice is not always healthy.

Not all of the trees were cut down.

Neither of my friends could come over to my house.

Not every road was blocked by traffic.

| don’t always go to school early.

None of the council members voted for Mr. Stewart.

Not all of the dishes looked delicious.

VO 00 N O U1 A N =

| had no complaints at all.

iy
(<]

Neither coffee nor tea will be served today.

Yy
jury

Never have | imagined that | would meet my hero.

JIE.EI-";:I_#LEI-IIE oiga|| p.144

=

01 It was a bear that stole our food from the tent last night.

02 [t was at the baseball game that | left my jacket on Monday.

03 |t is piano that Lisa’s mother teaches at home on the weekends.

04 Jared does go to sleep before 10 PM.

05 Thomas did tell his biggest secret about himself to Christina.

06 It was Stefan that asked me to lend him my umbrella yesterday.

07 It is at the park that my brother plays with his friends after school.

08 |t is his teacher that Peter helps in the science lab on Tuesdays.

09 | do hope you get better soon.

10 Mr. Bloom did play soccer on a professional team in his early
years.
11 | do know that we are in trouble.

12 Aaron did wish that his team would win the championship.
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13 At the hospital are the doctors waiting for the patients.

14 Never has Ella thought about moving abroad.

15 In the east rose the sun in the morning.

16 Within the books is the answer you are looking for.

17 You do remember Jackson, right?

18 The bus does depart from this station every hour.

19 In Daegu are a lot of wonderful restaurants.

20 Hardly did the students expect a pop quiz to be given today.

21 Toward the camera posed the model with the flower.

22 In the waiting room waited Will for his name to be called.

23 |t was the train to Gwangiju that they missed yesterday.
24 She did like the new pillow.
25 The elderly are not always reluctant to change.

26 None of them could sing the song.

27 ltis in the fall that the mountain becomes colorful.

28 It was the vase that Sarah broke in the afternoon.

29 He did agree to take the subway.

30 Not all of the people in the room noticed the difference.
31 We have no seats left on the flight to LA.

32 |tis in the gym that the basketball game will be held.
33 does ~ do

34 worried — worry

35 | had — had |

36 she can play = can she play

37 many people go > go many people
38 brushed — brush

39 do appears — does appear

40 studied — study

41 Ben had — had Ben

42 you can — can you

43 the lion stayed — stayed the lion
44 |ooked — look

45 A: Did you bake the cake yesterday?
B: No. It was Sam that baked the cake yesterday.

46 A: Is there a dish | can use?
B: None of the dishes are clean.

47 A: Did you leave your cell phone at home?
B: No. It was at the library that | left my cell phone.

48 A: Did you enjoy reading those books?
B: Neither of the books was interesting.

49 A: Does Ms. Bell teach dance class on Thursday?
B: No. It is Ms. Jang that teaches dance class on Thursday.

50 A: Will you go camping at Mt. Halla on Friday?
B: No. It is at the park that | will go camping on Friday.
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